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1. Identify the incorrectly matched pair.
(A) Stefan Edberg : Cricket (B) Bjorn Borg : Lawn Tennis
(C) Tiger Woods : Golf (D) Cristiano Ronaldo : Football

1. SRew(S Mool Yedl @R fHare 59 |

A) T owe awasf : @b (B) = 3’sf : a7’ (5fem

(C) Bi29MR Tuw : o (D) &l AT @Il : Foe
1. TS GRTC CRIelD e e |

(A) COF @ : fGFeFd (B) g1 3of : &1 (Bfer

(C) TBizema T : o (D) @M @MICEel : Fo3e
1. TR sEEaE STt o)

(A) et weamt : frehe (B) =5 = : &= 2fm

(C) TR 3Igd : Teh (D) ffEam’ THee’ : Fead

1. Tod AT SIS w1 Tg=T |
(A) T Tet : fohehe (B) = &t o 2|
(C) 2SR g&d : Meh (D) ferfeeamt TATee! @ Feard

2. Where is the National War Memorial located?
(A) Srinagar (B) New Delhi
(C) Tawang (D) Amritsar
2. 01 @ HRCTH ' SRTe 2
(A) Hwa (B) o= @l
(©) Bk (D) o

2. T T FRKE (I TS 2
(&) Fi (B) g fra
(C) wreme (D) S
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2. A3 I” B =& o= 27

(A) TR (B) e fagh

(C) (D) TR
2. ‘U g5 W el feua 27

(A) Hm (B) =& fagt

(C) (D) TR

3. Which of the following is the Mission Basundhara of the Government of Assam
related to?

(A) Fishery and livelihood
(B) Women empowerment
(C) Land records and land revenues

(D) Digital education

3. FEfIRe (@GR Fre P 59 fHer Pl T2k 2
(A) ST SN il
(B) 2wt SRepael
(C) gRicerr e B ez

(D) ffecher st

3. TCod (I Cx P AIPICAT PN A5 U 2
(A) TR @ Sl
(B) =T SEeNFae
(C) i wloret & B ey
(D) fEfEore forsr

3. ITEW TERH e Sg-amE Me™ 7= amrar 37
(A) T HRa IR =3 T=
(B) TSIl MGl WA
(C) BT-XEI TR BI-TSIT
(D) fafSreat dietiong
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3. a9 TR w1 fiem sguv fefeafaa & o froa wafia 27
(A) TR AR TTSAfeht
(B) wieer wxtfehentol
(C) ofwr stfer@ 3R W Tsa
(D) fefsrea faem

4. Which of the following organizations is not in the business of commercial vehicles?

(A) Larsen & Toubro (B) Mahindra & Mahindra
(C) Force Motors (D) Tata Motors

4. frgfrfe @ 2foPm AfITF I IR F91© TT© 7= 2
(A) =Ce 9% o’ (B) W2wm 9% 2w
(C) T’ 6% (D) 151 Wo9=

4. T0od (1o AT eI AR TP IS 7 2
(A) FHEH SIS 5 (B) el = Wifzm@
(C) FPf (IBa (D) 15T GBa

4, MEEM S BHATT BIATIET TR TR TST?
(A) TR TS T (B) #ies U= Afg=
(C) w§ med (D) 2rT "™

4, Fefaftaa @ @ SF-a1 e arfifses arel & =Faa™ | T8 2°
(A) W TE 2o (B) Hfea1 Urs Afes
(C) ®H Hied (D) 2T Hied

5. If the pH of a liquid is 50, then the liquid is
(A) alkaline in nature (B) neutral in nature
(C) liquid metal (D) acidic in nature
5. (el ©@ M99 pH T 5:0 2°C31, (312 01 “mieff|y
(A) P egphed (B) eifirs arpfeq
(C) w9 4T (D) wfir zrgfes
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5. 6 wacerd ¥, @®5. (pH) 5-0 3¢e, (318 o=
(A) P17 ZPhred (B) T=eer aigfen

(C) o= 4T (D) =% 2Pphed

5. Jfe a9 dEaEE pHST 5:0, 3Tl o Al

(A) ERY STgh (B) &=

(C) ¥ =g (D) ufirs =g
5. 5@ fRet 3 %1 Ho THo (pH) ¥M 50 &, @ 98 79 &

(A) TR e (B) Spfc # qeed

(C) o org (D) Wﬁw

6. Who is the Vice President of India, as on 1st of January, 2024?
(A) Gulab Chand Kataria (B) Ram Nath Kovind
(C) Jagdeep Dhankhar (D) Rajnath Singh

6. 1 S, 2024 MCCF OFeT TR AN (T 2
(A) SR 5% FOIRAT (B) T <M &R
(C) o =T (D) Jrerre B

6. 1 SRR, 2024 MCACF ©Heed TGN (7 2
(A) (CaTeTI?l DI oI (B) T M IR
(C) oM 44T (D) AT PR

6. 2024 AFATEH 1 AR WIfAREE 9RaH WSt RrimE ar?
(A) T TS T (B) T 1Y =hid=<
(C) SFTET &Rt (D) Ty T

6. 1 SHadl, 2024 1 VR % ITATAT B &7
(A) TS =@ Tl (B) TH 1Y whife
(C) T g Ee (D) Ty T
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7. Which of the following belongs to Class I category of lever?
(A) Scissor (B) Wheelbarrow

(©) Human arm (D) Stapler

7. WS @G 22y @M forere wwsfe 2
(A) GOl (B) st aNT
(C) T+ A2 (D) ¢ *TR

7. Tod @0 22w @i ferecag wmwafe 2

(A) I (B) =Tl

(C) e 2@ (D) SHeETR
7. TeEE 99 qFaa ara [ faar fafefer?

(A) THEf (B) et T

(C) AHfH A= (D) WIAR

7. T=fofaa 4 9 wia-un oo < e 1 9vft § gafuq 27
(A) =i (B) T
(C) THa g (D) WUeR

8. The National Flag of which country has a white cross over red background?
(A) Brazil (B) Switzerland
(C) The United States of America (D) Japan

o

8. (I (MR TSR ~[IFT 8] 7P I91 367 Bl & HF =z 2

(A) Ffee (B) pERERCeTs
(C) SR TS (D) &l

8. (P (TR QISR TR 1o “bpHce Gio A T SR ?
(A) = (B) ARG
(C) WIRF o1z (D) =
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8. 9 TR fRfthermama s ey wmmE T4 %49 37

(A) SfSI (B) TRt
(C) AR FUTZ BTET (D) STaH
8. ford 3w & UE was | oTel Y9 W T Whe Hid 27
INBEIEIS] (B) fEsrete
(C) TIH T TR (D) STaH

9. Which of the following is considered as the earliest compilation?
(A) Yajurveda (B) Atharvaveda
(C) Rigveda (D) Samaveda

9. FRFEIMNS RGP GRS [ AFer el [Reaval 41 27 2

(A) cW? (B) ‘WW’

(C) ‘“docaw’ (D) T’
9. T5a @FWHCE AN WeFere 2T [Reasen w41 29 2

(A) ‘e’ (B) ‘s

(C) “dcaw’ (D) AN
9. TN e sEtgs fifsfe gy foram o g gei7?

(A) e’ (B) ‘wredaE

(C) ‘Tosg’ (D) ‘@mee’
9. fam=fafaa @ 9 fre 9@ Yga Gehetd HHT ST 27

(A) ‘agde’ (B) ‘wrerdde’

(C) ‘Fag (D) ‘@mag’

10. Which of the following places was a part of the Indus Valley Civilization?

(A) Machilipatnam (B) Babylon

(C) Mohenjo-daro (D) Byzantine
10. FRRTR® (I 2 P Toerl Terer wEsfs ?

(A) WRfeeiGe (B) e

(C) TezegmIcal (D) drECEDE
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10. ficw Tfafe e 2wl By Sererl Terer e feel ?

(A) =TT (B) @mfRem

(C) CECGmIC (D) J3CETOIE
10. TRHEH & ST {7y SRAH SR sRrmE?

(A) TR (B) sferar’=

(C) Heser’ (D) fermfees
10. frfefad § @ wH-a1 we fay ot avran = fawan on?

(A) HSATETT (B) sisffet=

(C) HiEsTEet (D) sfiefea

11. Who among the following was involved in the Battle of Waterloo?

(A) Napoleon Bonaparte (B) Czar Nicholas
(C) Adolf Hitler (D) George Washington
11. S0 @ RS @R @ow Sifee 2
(A) GTCferR CamI=Ib (B) fcleTs w14
(C) @ f2hea (D) & QPG
11. Tieo Sfafems T (P SABRER Ia Svo f=eem 2
(A) GTCferR C@I=Ib (B) &= fercremt
(C) 9w f2berm (D) & SHHLG
11. TEETE EHE 9 HEET IR STeersl dteet 37
(A) -9’ fora ST (B) SR fis'@ma
(C) ueew fEeem (D) STSi aTiTe
11. ‘aretq A e | fefafed #§ @ @ e on?
(A) et ST (B) SR fihrera
(C) TElewh feeer (D) S aTf¥FTe
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12. Bhairabkunda is a trijunction of which of the following?

(A) Assam, Bhutan, China
(B) Assam, Bhutan, Arunachal Pradesh
(C) Assam, Bhutan, Sikkim
(D) Assam, Sikkim, Arunachal Pradesh

12. (oPe FERIRe @l [esm e 2= 2
(A) SPH, $HIF, B
(B) P, O, SECIbe] 20
(C) =P, $oF, e
(D) =T, fofe, Sreembst eiom

12. TR @ b BIeR RATEE (TS 2
(A) =PI, TOM, B
(B) SPT, BN, SRFATbE 2wl
(C) =P, eoM, Bifes
(D) =P, PIfRFS, SI=eelet 2o

12, PEFH=<T TMEEH 6l AT SRR TR ST ?

(A) TEm, gdH, ==
(B) 3TEH, dH, TEUMT=A Jaul
(C) M, ya, ffeEm

(D) 31w, faferm, Tevmee Jeu

12. Wage ffafaa § 4 froe Bsaem 27
(A) 3TEH, 2, <
(B) 3TEM, ¥2H, &M= Ja¥l
(C) e, e, fafem
(D) 7eM, fafed, sTEv=a Tat
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13. Which of the following is generally salty in taste?
(A) Snowflake (B) Rainwater

(C) Flowing river water (D) Seawater

13. fegferie cmfe cemam e s 2
(A) TR (B) I9F°M ~(iat
(C) =Sl =W “fret (D) TR =1

13. T6F @0 AHRTS FW FING 2
(A) TR (B) 3BT &=
(C) zRIfZ® g we (D) ST &

13. TEEH e TETE M ¢
(A) SREB-T=T (B) T@I-TIS
OEEIGERECIEE (D) defy &

13. f=faftad § @ F-91 e 3 gmwa: 9 gl 27
A) Tegeru (B) rfiar =t ot
(C) wr&dl =t =1 arHl (D) wgg T It

14. Which of the following mountain ranges is in North-East India?
(A) Barail Range (B) Shivalik Range

(C) Satpura Range (D) Aravalli Range

14. FREERS @ sHoqe Teg-7[ SHes S{iEe ?

(A) <R AT (B) Prifers sfowen

(C) AT *RfSw=I (D) SRR ST
14. 069 “ReCgRR T (@i Teed SR s[HiEs ?

(A) e o (B) Prifere oRfoc@

(C) AT~ Rt (D) SIRIAME e
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14. TEEN S ETSET ATET TT-HHEST RATe 7
(A) SIS ESIHET AT (B) farenfersr gt @it
(C) TAYW ST AT (D) AR TSET ATR

14. frefafad § @ SF-H vda S@en g R 7 27
(A) o Hoft (B) franferes soft
(C) wager At (D) el Taa oft

15. Which of the following statements is incorrect?
(A) Lakshadweep is a Union Territory of India.
(B) Maldives is a Union Territory of India.
(C) Andaman and Nicobar Islands is a Union Territory of India.

(D) Puducherry is a Union Territory of India.

o

15. faferfie @M Tfe srem 2
(A) =IEFEl7 SAeq 93 (IR *1PTS ey |
(B) WETalY OIS Q¥+ (FHR *PTe e |

(C) S S CPIRT B171%)g TReq G¥e (IR =P Jrey |

(D) “[TCO]N SRS Q¥ (FT *1FTS q1ey |

15. o (e [RIFo srum 2
(A) SIFFRI7 SRCST G0 (FHOTS 26 |
(B) Wefalel SRces @3 (FweIhTe weee |

(C) SN ¢ TP @77[e TRCed GFib (FTHIPTe T2 |
(D) "M ©lces 4 (FHHIFTe T |
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15.

15.

eEf 59 fasgfomr o T

(A) Tefsan wRaH T s Geee TSt

(B) HIAfsdT YA 9 fiesii gomme TSt |

(C) AT=MM A T sr fgurmemen yraf 7@ firesti g TEsh |
(D) gg=rn yraf T fres g g |
Frafefaa @ @ -1 FF Teq 27

(A) TEET WA T T heRd Yo g

(B) WICTEIT YA ol Ueh haaMMidd Je9 &

(C) 3TeqM 3R e Faag WRA 1 Ush hgemiad Jew 2 |

(D) JgRI WA 1 T hguMMad Ja & |

16.

16.

16.

16.

16.

The Equator, the Tropic of Capricorn and the Tropic of Cancer pass through which
continent?

(A) Asia (B) Australia

(C) South America (D) Africa

(I TRICHIE e RIACEL, TG (@4 SF FFoFN (T2 A9 (2 ColcR 2
(A) «fe (B) =i ferm

(C) wlEea ! (D) NIl

RN, TR (1 GR FROGFIG (T (Il F2C 145 e ooy Tz ?
(A) «@frm (B) SICGERT

(C) wfFa SCE (D) <=

forge !, W AT 3T ek BTEISTT ol BIGRHATSI SRS ?

(A) ufen (B) swgferm

(C) e AT (D) i

HERET, HhRET 3R heh fohe TeTeia & Eiet Toret 87

(A) TRE (B) arefemm

(C) afequr erofwER (D) 3ThIR
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17.

17.

17.

17.

17.

Which of the following is an island State of the United States of America?
(A) Madagascar (B) Canary Islands
(C) Hawaii (D) Greenland

feferire (P2 Scafpl ST T 99 Ae[ares ?

(A) SWISTRE (B) (IR =31
(C) 2R (D) e

o (TG TRE JSAET G0 A=1E 2

(A) SHISTRE (B) FIfE @

(C) 2rex2 (D) s
MR F9T AR e et T8 f3g qes?

(A) HIETTERT (B) =t T34

(C) T3 (D) el B

FrefcIfiaa & @ H-91 9w T STHNHT 1 Th 519 T &7
(A) HSTTRER (B) ¥ g1
(C) =g (D) TS

18.

18.

18.

Sudden burst into the open of hot water and vapour from deep underground is
termed as

(A) geyser (B) volcano

(C) tornado (D) tsunami

BOIET SISO 741 o[ “Mlell W ] [EwIe wiwaee el @1a1 AR5 (w1 2

(A) T 2mEq (B) =TCaReNE

(C) Befea (D) It

STSI BOTS (AT WIFFIF [N 5190 &1 G =9 Fofe 2eqcs e
(A) T 219 (B) s

(C) gfefamy (D) i
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18. e TAfHE TEE g g T % STERARE! g8
(A) fog g (B) i Hii
(C) wmwHraTE (D) gt

18. TR e ¥ gl # M U 3R AT F IEEF B FI Fel el @

(A) TSR (B) SoTeIgwEt
(C) Fa=X (D) gt

19. Which of the following is not a component of the Constitution of India?
(A) The Directive Principles of State Policy
(B) The Directive Rights of the Centre
(C) The Fundamental Rights

(D) The Fundamental Duties

19. RIS @G SRed TR Tom 727 2
(A) I, ARBERR Forres Tfs
(B) &%a oM SigsE
(C) CNfers IfaF

(D) (e Ty

19. o (PRI SRCed AT TAWI 7 2
(A) MG ~ARDERE WeeTs T
(B) Fcw Mo wfieE
(C) CTfere wfaT=
(D) CNferF T

SLRC-2024/P-111/ 1-D 18



19.

19.

TR s=a YRa afsfse s TeT?

(A) @I Tl AreeTe

(B) Toreanfy farenmm wmemg

(C) TfeAT Horg

(D) et ST 2

frafafaa @ & F9-a1 27w yra & afaum & T8 27
A) =T % Hifg-FEve frgia

(B) % & feweh TR

(C) Hifersh Aferepr

(D) Hifetsh e

20.

20.

20.

20.

20.

A continuous rise in the price level is called

(A) stagflation (B) deflation
(C) hyperinflation (D) inflation
T B9 G o (T 27

(A) TRl (B) RIS

(C) = Jureife (D) Jurgifs

(A) frveTer-"Ife (B) SHIfe

(C) e J@Hife (D) @R

e R AT ST STeAeTT AR g8t

(A) TITHRATH (B) fewrm

(C) BTEIRERATH (D) FHRIE

T TR # TR gfg 1 w1 ar &

(A) TTRATH (B) fewrem

(C) ETEEFATH (D) FWATH
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21. What does DAY stand for in the National Rural Livelihoods Mission (DAY-NRLM)?
(A) District Availability Yojana
(B) Deendayal Antyodaya Yojana
(C) Deendayal Ayurvedic Yojana

(D) District Achievement Yojana

21. W 2 S ST (DAY-NRLM)S DAY & J&m 2
(A) District Availability Yojana
(B) Deendayal Antyodaya Yojana
(C) Deendayal Ayurvedic Yojana

(D) District Achievement Yojana

21. FeR AN FH i (DAY-NRLM)-9 DAY @18 Fl (@R 2
(A) District Availability Yojana
(B) Deendayal Antyodaya Yojana
(C) Deendayal Ayurvedic Yojana

(D) District Achievement Yojana

21. ¥ & AWiiigs M (DAY-NRLM)3TE DAYST | JSHI1?
(A) Teafege smfafafafa @ (District Availability Yojana)
(B) dFeamet 31=ded AT (Deendayal Antyodaya Yojana)
(C) dFeaTa gdfes AsHT (Deendayal Ayurvedic Yojana)
(D) femfege wfasm@=e JSAT (District Achievement Yojana)

21. TEH T 3Tt fieM [National Rural Livelihood Mission (DAY-NRLM)] # DAY
I a1 7

(A) 5o Suetsgan JASHT (District Availability Yojana)
(B) dMeaTt 3T@NEd AT (Deendayal Antyodaya Yojana)
(C) dFeaa HTﬂﬁﬁ% AT (Deendayal Ayurvedic Yojana)
(D) fStel 3uafsy ASAT (District Achievement Yojana)
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22. Which of the following novels was written by Padma Shri Rongbong Terang?
(A) Mrityunjay (B) Oximot Jar Heral Xeema
(C) Rongmilir Hanhi (D) Miri Jiyori

22. IR @R SoeyeT oA 9598 (SIS I5e FECR 2

(A) TorgF (B) SPIN® 17 (291 ST
(C) FMfer 2if2 (D) f Gra

22. ST @ SRR MR 73R (TR 7R A0© 2
(A) Jored (B) 7IN@ 7 (2T ST
(C) Ffferg 2if2 (D) A Gra

22, TEEM ¢ o A w=rsht & auet forgma?
(A) Fcg==iq (B) 37HIHd SR &%eT HimT
(C) Hfer gife (D) fafk ot

22, f=fafga @ @ SF-a1 Su=me v=eh T aun g foran e
(A) ggoF (B) erdiad SR xet ||
(C) Tfafer gret (D) iRt forert

23. Which of the following is not a Central Armed Police Force of India?
(A) Indian Coast Guard (ICG)
(B) Sashastra Seema Bal (SSB)
(C) National Security Guard (NSG)
(D) Central Industrial Security Force (CISF)

23. ARSI Sed (FRE T S IR 72 2
(A) ORI Tope IRl (ICG)
(B) & ST 31 (SSB)
(C) K = oI (NSG)
(D) @R Srifes far-rerifzat (CISF)
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23. T (PG ST (FUR 3E 7Jforifaa =1 2
(A) SRR T7ge Rl (ICG)
(B) [F ST 791 (SSB)
(C) B I o6 (NSG)
(D) &I Smife fererfzal (CISF)

23. TEEM sea1 wRa e gl Tty g qer?
(A) zf<am w8 mE (ICG)
(B) @& fomr s/t (SSB)
(C) FvHa fafesfife mE (NSG)
(D) ¥ gerfesder fufrshife v (CISF)

23. Frfafaa & & FH-a1 9Rd 1 FT qer ARe T T2 27
(A) WA deterss a9 (ICG)
(B) 43t M1 97 (SSB)
(C) T g ME (NSG)
(D) s 3frenfies guan s/a (CISF)

24. What is the chemical symbol for silver?
(A) Ag (B) Si
(C) Sv (D) Au

24. F°[ IPRFAF ALFS F 2
(A) Ag (B) Si
(C) Sv (D) Au

24, FIF ICTF 28T F 2
(A) Ag (B) Si
(C) Sv (D) Au
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24, T TaEE RfFafer ar?
(A) Ag (B) Si
(C) Sv (D) Au
24, =idl 1 THEHS fag w87
(A) Ag (B) Si
(C) Sv (D) Au
25. Who is the President of the USA, as on 1st of January, 2024?

25.

25.

25.

25.

(A) Barack Obama
(C) Joe Biden

1 GRS, 2024 SCCH SRS TS0_T AR I 2
(B) CORF® G
(D) R 3FT

(A) I I
(C) & Afzce

(B) Donald Trump
(D) Rishi Sunak

1 SRR, 2024 ACACE b JACEa AGifS F 2

(A) JIEF S
(C) Ceil ABCTA

(A) ST &

(C) S e

(B) (OIS Gl
(D) AR

2024 TR 1 SR @iferfem i Storg g gerfifen ar?
(B) =ee g+

(D) feft g7

1 SHadt, 2024 1 TYH T IR 1 TPATT B 27

(A) ST AEHET
(C) S farew

(B) SHIeE 2F
(D) % g

26.

26.

Which of the following is considered as the powerhouse of an animal cell?

(A) Nucleus
(C) Ribosome

(B) Golgi apparatus
(D) Mitochondria

fafee @@ A @R *ifes Sqe weel [Reava w1 =02
(B) aI’#1% ke
(D) w25 g

(A) &FF FF
(C) I™'&T
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26.

26.

26.

T @FEHE A (@I *feq BT 2o [eawen w41 272
(A) ferefFam (B) oI I
(C) RS (D) TRCHIFIG
R seE e Sl amm M aifig g8 fufmm sme
A) Fefa e (B) TaAfST Tigw
(C) TEa'sH (D) T3 iz
frferfaa & @ R ayy FIT3TRT 1 ITeRETSH WHT ST 37

(A) THsh (B) Tiestt @
(C) Tgardm (D) TSI~

27.

27.

27.

27.

27.

Which of the following countries does not have a seashore?
(A) China (B) Afghanistan
(C) Myanmar (D) Iran
e (e orre SeRE Tegel iR ?

(A) B (B) SIRFalfeRsr
(C) T (D) 2

TR @ oIfba T@eh (1R ?

(&) B (B) SIS
(C) TRIFTE (D) 2=

RINRIEIC E R G TR I 21 6

(A) =M (B) STHII-EH
(C) =ER (D) st
frferfiaa & & g 3w & wEae W 27

(a) == (B) SImITd
(C) wImR (D) A
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28.

28.

28.

28.

28.

The world’s largest island Greenland is a part of which of the following countries?

(A) Denmark
(C) Canada
2T JZeN A7, T L P SR 2

(A) (T
(C) el

R0oea 32 &7l [BenS (FIM (R =1 2

(A) (T
(C) Il
Jeuf wfem fow fimerer 9o geRf swEmm?
(A) STTH

(C) =hHTST

(B) Sweden
(D) Iceland

(B) DT
(D) SI25CEe

(B) 2T
(D) SIS

(B) gz
(D) 3TTEEc<

forea =1 g9@ w21 €U, Hicts, e <91 @1 'Y

(A) STHTH
(C) TSN

(B) %iteA
(D) ATEETE

29.

29.

29.

29.

29.

What was the last capital of Ahom Kingdom?

(A) Charaideo

(C) Rangpur

C AT CRICH! qreeiell b wifest 2
(A) BRCTe

(C) [

2 ASCHA (I AG (FAD f2e 2
(A) BaRCTE

(C) R

JTEH TESIA ST TSIATe = S ?
(A) =

(©) T

ITEm w3t TStar wa-w ofi?
(A) =3

(C) T

(B) Jorhat
(D) Garhgaon

(B) @26
(D) orwsiie

(B) =2
(D) sresile

(B) e
(D) e

(B) S

(D) e
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30.

What was the name of Srimanta Sankardeva’s grandmother?

(A) Aidew Aita

(B) Jakoimoti

(C) Kherxuti (D) Soirindhri
30. TG *FICEI 0! 2O AN e 2

(A) wETre wRel (B) wswel

(C) 7Sl (D) Cife
30. I *FACCA ProreE T i fee 2

(A) =IRwe wize (B) wItFTe!

(C) =TSl (D) Cifs
30. fiu=a yeReat foefy g1 ame?

(A) 3TEIEE STTET (B) STehmfd

(©) e (D) Hfeeh
30. b vierted il Tt 1 AW FAT o917

(A) @TEe3 TRl (B) STehrgardl

(C) wgdt (D) &
31. Who was known as the ‘Lion of Mysore’?

31.

31.

31.

31.

(A) Adil Shah

(C) Krishnaraja Wodeyar
TR PR (I SIS ife ?

(A) =TiweT %=
(C) S TWIE

& TR P’ e Ao freer 2

(A) =Tfwet =2
(C) FT& SRS

R ‘mrgert oy’ g fHfesmme?

INBELESRIIH
(C) FORST IR

TEL % R o T Y TR ST S en?

INBELES R
(C) FURS AR

(B) Hyder Ali
(D) Tipu Sultan

(B) 23wq wifer
(D) 157 pererm

(B) 2RWIEH
(D) b7 eTom

(B) ®IEaL ATelt
(D) fag gear

(B) TR 31t
(D) &g God
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32. Which State of India has Jallianwala Bagh?

(A) Punjab (B) Haryana

(C) Rajasthan (D) Uttar Pradesh
32. SR (FICHI TS FIfeTaeEIeTie & 2

(A) 7GR (B) =<

(C) IreE= (D) Ted AW
32. QRN 19 SRCSH (| A S ?

(A) “NGR (B) 2l

(C) &=« (D) Teq 2w
32. ST IR YRAN o« TESIeTE &7

(A) TS (B) IRI™T

(C) TSI (D) 3T Yo
32. Siferiare o Yid & fora s § oo 27

(A) U (B) =famm

(C) TSI (D) I YT

33. Which of the following countries was a part of the Axis Group during the
World War II?

(A) England (B) Japan

(C) France (D) Soviet Union
33. fasr feugma TS RIS @A o) o Collba SIemI SifRe] ?

(A) ZeTe (B) w74

(C) =™ (D) CRIfeED ZTfere
33. Toa oIl T (AL oR Reseas TR SEeeT o e 2

(A) 2TTS (B) Il

(C) F™ (D) CTferRre Feq
33. A g7 eI JHE MERTE M §9 86U Tfrad g STerTHA ¢

() st (B) STIH

(C) ®r= (D) @i 33fem
33. FHfafaa & @ wH-|1 <1 f5dia fovags & e i | =1 e o’

(A) ¥ (B) S

(C) wE (D) Gifoa a9
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34. The ruins of Angkor Wat are in which country?
(A) New Zealand (B) Indonesia
(C) Vietnam (D) Cambodia

34. T BT FOTCRPIR (IO (79 ?

A) frefecae (B) ‘2wl

(C) fecapa™ (D) eI
34. IEICH-97 FOROR (Fle| (0 SR 2

A) Fefemme (B) ZCWICIRT

(C) fegree™ (D) cFIfe
34. AR IdH TEERET SRS Jd geld &7

A) e (B) 3= <ferm

(C) Tirdam (D) o feam
34. 3R 91C & @l fhe a1 § 87

() sitete (B) sEHEmE

(C) Toram (D) sarfea

35. Which of the following countries does Assam share international borders with?
(A) Bhutan and China
(B) China and Bangladesh
(C) Bangladesh and Bhutan
(D) Myanmar and Bangladesh

35. PR (FMER (™R O P B ATEEl == 1 2
(A) SO S B
(B) T == JIeeTIC
(C) TP IF BT
(D) SRR S LS|
35. T @ (el TP TBHIS NGO 2
(A) O 8 B
(B) BIF @ et
(C) ETH € THI
(D) TRIFTR € JRECTH

SLRC-2024/P-111/ 1-D 28



35.

35.

AT 9 TTENSI SIS e Term?
(A) T ST =

(B) <9 2RI STetew

(C) STATSST TR ™

(D) PIFHR AT STeTTesT

srem frfafiaa @ @ o5 2ot 3wy siafda dar aren s 27
(A) 2 ST <

(B) = 3R amere

(C) STATERT 3T eH

(D) PR 3R FEATT

36.

36.

36.

If an airplane is flying directly from Chennai towards Guwahati, in which direction
is it flying?

(A) From South to East
(B) From East to West
(C) From West to East
(D) From North to East

Ifr G2 e (AR 2[1 SARIBICA (olIe ¢olieeT SR =f2 wiew, (o8 R @It fsiter TfF
1R ?

(A) wFFeR #[1 e
(B) “[<= #[1 “A<baCa
(C) =63 “_1 7[CaT
(D) TET {1 70

M GO R (GAl2 (A SR e TR Tew I/, 91 9t @EiceE Tu 2
(A) wfEFel (e o e
(B) & e “Foames
(C) P (A 2
(D) Tes (A [me
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36. T fowa'st Sfe JaEfEm TaEEiftm o o %al, oteen forn @ fame forai?
(A) EIATHER AT
(B) TSGR FHTEI
(C) FHTEHERE AT
(D) HTETHETE HTS

36. A g gaTE S =es ¥ ) [AEE Al A IgH W @ 2, dl a9 e fewn § SeM Wt 2Y
(A) 3feror & gd it 3R
(B) 9d ¥ ufgem i 3R
(C) |fvem & qd &l AR
(D) 3T H 94 I AR

37. What is the Westernmost State of India?
(A) Rajasthan (B) Punjab
(C) Maharashtra (D) Gujarat

37. TS AHIReF FoTe AF I (FleL ?
(A) TEE (B) “IgK
(C) =L (D) @EAIH

37. SRR MTe e (@0 2

(A) drEET (B) “lgR

(C) T=EE (D) @D
37. WRAM A SAEe1 TS a6 7

(A) TSI (B) dT=iTel

(C) \emg (D) TsUd
37. YR & T ufverfl T Si9-41 87

(A) TSR (B) UST&

(C) Herg (D) TsUd
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38.

Which of the following peaks does not belong to the Himalayas?

(A) Annapurna (B) Kangto

(C) Anamudi (D) Kamet
38. Al (FACH! *j20! fovorE wwefe =7 ?

(A) @ (B) B!

() =t (D) <1cTe
38. T (@ WL RARTRR Sl 71 2

(A) =@ (B) B!

(©) =t (D) 1cH
38. TR ¢ fuRafwn featerat T=T?

(A) T (B) =

(©) wmfa (D) e
38. frefcifad § & wm-¥t =t fewmer & wafua & 27

(A) sr (B) =

(C) Ty (D) e
39. The Great Barrier Reef is located in the seas near which continent?

39.

39.

39.

39.

(A) North America (B) Australia
(C) Africa (D) Europe
(@ TRICHE N7 A9 2R 206 2D S[%s 2

(A) TeF R (B) = forn
(C) nfzreT (D) 2Tcarl
28 2J1E 21 (b TR {F) (@R TR FR6a8! 7w S[Es ?
(A) Teq SR (B) SCHm
(C) ez (D) Tea

T2 SfeR fwt a1 grerEn @nfafy o g7

(A) HT TR (B) rfern
(C) mitpehr (D) ¥

U2 afer G ford werg & e ogg o fea 27

(A) STl R (B) sfegferam
(C) sTHH (D)
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40. Which of the following is a mountain range of South America?

(A) Andes (B) Karakoram

(C) Alps (D) Caucasus
40. RIS @G v SERIE GF ARG 2

A) afyg (B) FRICFE

(C) = (D) FCIOR
40. TR @D 7= SACARIE GF(0 RO 2

A) =FrE (B) JIRCIEN

(C) = (D) FPT
40. TEEM T99T T ARSI BT BI?

(A) T (B) FRIHH

(C) TaE (D) hebET
40. Frfafaa # @ wH-Ht gfeor smafen 6 gdd g@en 27

(A) TN (B) hRIHRH

(C) 3Tt (D) I

41. The giant waves caused by volcanic eruptions or earthquakes under the sea are

known as
(A) tsunami (B) cyclone
(C) blizzard (D) landslide

41. S SfeTe (FE1 SCRER Twaael S2[l $REeR Al F9 32 G @R =
(A) T (B) 1-etl
(C) TTRITS (D) $frer

41. T T SCEPIRE AP A SRFC= Tl 7 T2FE SRS @ 2
(A) R (B) Fffae
(C) AT (D) Pfrer

41. @ ToeTa 1 grEl sG-S TS AHHTEAES Qi e SarhrE! eI
(A) gt (B) ST
(C) =T Sgw (D) &1 firfrarm

41. 95 % = SAragE R a1 Jod % R 3cae faTe a R el S §
(A) ATt (B) =Ishald
(C) T qHE (D) &
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42.

42.

42.

42,

42,

Who is the Chairman of the Rajya Sabha?

(A) The Prime Minister
(C) The Speaker of the Lok Sabha

qEPTSR S (Il 2 2
(A) 2yeTE)

(C) CTFTER ST

e JEF (F ?
(A) =4

(C) TR TSR S

eI GHTH STRIEATET FiX?
(A) TITETE HATY
(C) §g wEH FrafR

T T T AT HIF BT 27
(A) TaH Tt
(C) ATHaHT LTS

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

The Vice President
The President

ToE_ oIl
BRI

TorgIfe
BRI

ASTE ETERAR
BIERTN

ERECITE
eafd

43.

43.

Who administers the Oath of Office to the President of India?

(A) The Prime Minister

(B) The Chief Justice of the Delhi High Court

(C) The Chief Justice of the Supreme Court

(D) The Speaker of the Lok Sabha

e I AMSTF (FIC XIS 218 IR 2
(A) 24
(B) Tl Tob HRICRE <5 TR

(C) Tooow TRIERE T R
(D) CeTFTOR S
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43. (3 OACSA AZANCH M7 #10 T ?
(A) zarg]
(B) &l T REIER 24 [oE7IRS
(C) T TR 2y [Komeife
(D) CFTRPTSR ST

43. YA TRRANET foem TH=iERmEt 9 e ?
(A) TITETE T
(B) fagh s fafsranfafs mere fommema
(C) TeifeH fafsenfats mere femmema
(D) g et g

43. WA % TP ! U 1 799 i e 27
(A) U™ Tt
(B) fagt 3= =mamer & g =
(C) HaT= =T & G&F AR
(D) TArRET FAEAH

44. Which of the following musical instruments of Assam is usually made of bamboo?
(A) Doba (B) Mridanga
(C) Dotara (D) Toka

44. FERIRS SPRY TURETRS (P THRECS e e 2
(A) w1 (B) Iwzs!
(C) crrest (D) B

44, o AR SPIEF (@ ITED THRTS I e CofF 23 9
(A) TRl (B) ¥
(C) T (D) B
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44,

44,

MRS B AHME o« gHeral s s ?

() s (B) ga

(C) =dia (D) et

feferfiad & @ 3199 1 -9 Giid e SAMAR 9 g ° S99 Bidn 8¢

(A) (B) wam
(C) e (D) v

45. Where is the Tocklai Tea Research Centre located?
(A) Jorhat (B) Lakhimpur
(C) Tinsukia (D) Dhemaji
45. (BRFEI BB Il (% F'© SRS 2
(A) =0 (B) =Ifm=a
(C) fefpamm (D) i
45. (GIFeT3 B IRl (% (PR SFS 2
(A) @m=o (B) ==
(C) ey (D) e
45. qHeZ AL AR FHAHT Solme &7
(A) ST (B) ety
(C) fagleran (D) &wrfst
45. TS I TFEIM F5 hal [ 27
(A) SR (B) TR
(C) fagleran (D) TSt
46. The Gita Press, a unit of Govind Bhawan Karyalaya, is located in which State?

(A) Uttarakhand (B) Himachal Pradesh
(C) Maharashtra (D) Uttar Pradesh
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46.

46.

46.

46.

oM™ Sq= FRIERI @Ol (A5 o (27, (FAL TS SRS 2
A) Tedrde (B) T2me1 2lom
(C) w=A., (D) &9 2o

AT 21, Confim S FROTET G0 ©ol, (FIe AT STS 2
(A) TeqHy (B) faamet sem
(C) T==1g (D) Teq ziom

Tifse o AT [ 999 @il Tiar 9 99 TESieTd |7
(A) TG T (B) feurerar waw
(C) AEmg (D) 3T 9o

T 9w, Mifae Yo e 6l Uk 3o, fohe T J feorg 27
(A) IHES (B) femrerar wewm
(C) wenry (D) 3T Y=

47.

47.

47.

An hour during a day’s session when questions/issues may be raised without prior
notice in the Indian Parliament is called

(A) Freedom Hour (B) Lunch Hour

(C) Zero Hour (D) Party Hour

TROR FITS (FIC] GO r1a ST SIS Gl S 2p) /R =i T2 FRaq A1
9 SR AT GED] TS 6 e (1 = 2

(A) =& = (B) RIS FeT

(C) *[T Sl (D) welRl e

AT G5 et SIfECel SeTiplettel @b 8 T 91 2h/ Remefer eI womwm =< weelfe
(A) FET Pl (B) NeIZCOIGCTE Fll

(C) T T (D) wesTe &1
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47.

47.

RAM d9ed gFaf SYF SRl 99 Seoll SEfasmn |ify/smerdr fm iR
Torar BN, o e | g

(A) 3eite T| (B) AFSNGH 3TER &

(C) wfera’ &\ (D) BT &H

IR w6 § el vk o7 o &= § forn Forelt 9@ g % T/ 391U ST U Aol 39 T e
1 el S @

(A) T it (B) HEATE-HISH i

(C) A 1A (D) S i

48.

48.

48.

Who is the Chairman of NITI Aayog?

(A) The Finance Minister

(B) The Prime Minister

(C) The Governor of the Reserve Bank of India

(D) The Vice President

e (NITI) SIS ST (F 2
(a) fre @

(B) zra

(C) SR Rers @F< 9T
(D) o1 lfe

TS (NITI) SRR S (P 2
(A) e =@

(B) gl

(C) SHeR fare Wieas e
(D) T
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48. ifa (NITI) =T STTeTefieET |e?
(A) T T
(B) TS HAY
(C) wraf feame s MR
(D) wETg BTRRHAMR

48. Hfifd (NITI) TR o1 37e98] A 27
INBRESE:EL
(B) 9u™ Tt
(C) YR fietd Sk = T
(D) Jwrgafd

49. The Numaligarh Refinery is in which district of Assam?
(A) Sivasagar (B) Jorhat

(C) Golaghat (D) Dibrugarh

49. AT KIS PR (I e Sfs ?
(A) R (B) 21
(C) CaMeTraID (D) fe@are

49. NGOG CILTIANE SPICIE (I (ST SIS 2
(A) PRPTISE (B) @<=
(C) correr=n (D) fegore
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49. MM AT omE WemTern 9« e 37
(A) fEmR (B) SRE™
(C) TerTETE (D) fegre
49. TG fwrEt sraw % form forar & feora 27
(A) RraEmr (B) @R
(C) e (D) fegme
50. The international festival ‘Kullu Dussehra’ is celebrated in which State?

50.

50.

50.

50.

(A) Himachal Pradesh (B) Uttarakhand

(C) Uttar Pradesh (D) Haryana

WFEOF TR e TCRI (PITIT TS “AleTe] Pl 27 2
(A) feaImoe eion (B) Teqe
(C) Teq 2o (D) <@

IO TLT g MR (e A AT 27 2
(A) feaIme eion (B) Tedre
(C) TR ez (D) 2fET

TGISR BRET ‘T SRR Wl 5 i3 BT ST ?
(A) Temreet em (B) 3G S
(C) I 9o (D) =&

FRIET ER ‘Fg 390 60 T | w1 ST 27
(A) fewrea wa (B) IS
(C) W Tew (D) sf@mn
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51. The Bering Strait separates which two landmasses?
(A) Australia and New Zealand (B) The USA and Russia

(C) South Africa and Madagascar (D) Japan and China

51. (A€ AT (I Y51 $IGF 72 T¢I ?
(A) = form e frefecey (B) SR I, S q1fe

(C) w=Fa SIFS S TMISTZIE (D) I SF DI

51. (A 2Tl (IR 46 FoTSIICT 72 B 2
(A) TG ¢ fefeene (B) WP Ie=1g @ AR
(C) Wil SRRl 8 TWISMRE (D) S 8 B

51. SN TT-YeleT o T TT-TWi=IE! sramei?
(A) el mt el (B) 330 THo o TR AT
(C) WieT 3TTHeRT 3T HIETTEHR (D) SUM AR ==

51. a1 Sy R §-wrT A1 3TerT Rt 27
(A) AR R ~Sficie (B) HIH UsT I IR €4
(C) afeTor SThiehT TR HSTTER (D) STOH 3R ==

52. Who wrote the lyrics of ‘Alakananda’, sung by Shankuraj Konwar?
(A) Tonmoy Krypton (B) Sannidhya Bhuyan

(C) Joi Barua (D) Maitrayee Patar

52. *RFAE (PIACI (9N SRl Arefba Ao (e 2
(A) oI fFe (B) Tfey el
(C) =& Il (D) Ccas! A
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52.

52.

52.

RIS (PTHC SIS STl ST (< foTCeeet 2

(A) TR f&B (B) ey $23
(C) =& IFF (D) CCad! “red
IS iR AR TR HTEH e dr?

(A) T T (B) faed
(C) ™ sl (D) Tt arex

IS e’ FRI T T Fshr-a1 M fora formd ?
(A) T TRE (B) wf=ed s
(C) S =& (D) TaRft uTeR

53. The real name of crime thriller writer Ranju Hazarika is
(A) Satyanath Bora (B) Pabitra Kumar Deka
(C) Hiren Gohain (D) Kumud Chandra Hazarika
53. SURIATE (I A (514 g TSR ST T 7 2
(A) ST | (B) “f@ IR (ol
(C) 2@ (23 (D) I OF T
53. WRIATETP (NI PR GT4F 9g TSR 2F© I F 2
(A) o5 =1 (B) @ 91 Tl
(C) B (R (D) T v el
53. rEn R foan g o e om get w7
(A) FeT A (B) ufém FET
(C) e Tirere (D) FHe == Tl e
53. A YR e I TSGR 1 Tl M ©
(A) HeT SR (B) i FHR T
(C) T eré (D) FH& =I5 ESH
54. Who wrote the children’s book Xanta-Xista Hrista-Pusta Mahadusto?

54.

(A) Nabakanta Barua (B) Hiren Bhattacharyya
(C) Bhabendra Nath Saikia (D) Arup Kumar Dutta
SR w7 Rl T e PR o (e fetifee 2

(A) TRFE I (B) 2w ©HHrRf

(C) ST T (D) S FAQ 7S
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54.

54.

54.

CRIBCTE 7B *BHE 287[B T2qE I (3141 ?

(A) TRIRE I (B) 2Nca SHHR
(C) SeamTR R (D) SR FAE 7S
T AR fose - 2E0-7 HeigE @l | forei?

(A) eI AT (B) T wer=md

(C) w51 Tk (D) 3T FHUR &
AT I qEdh, AT Y Wegy T fordt?

(A) FEehid T& (B) fetd weramd

(C) weg =1 Afern (D) 3T&T FAR

55.

55.

55.

55.

55.

Kanchipuram Saree is produced in which State?

(A) Kerala (B) Tamil Nadu
(C) Karnataka (D) Telangana
it *T8T (PITe eme TLAW 91 77 2

(A) ST (B) ﬁﬂing
(C) wfib< (D) CeCaRMl
Fifes g *MC (| qMcey TeAlme 27 2

(A) eI (B) wIf¥erTy
(C) FoF (D) CSCoToIe
=g |G oo TES13ATd fogHi?

(A) e (B) arfHerTg
(C) Hiesh (D) TATTHT
YA TSl 1 IcdTe fohd T | grar 27

(A) (B) dfHeHTg
(C) AT (D) e
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56. Who among the following was a famous painter?
(A) Vincent van Gogh (B) John Lennon
(C) Bob Marley (D) Marlon Brando
56. RS (SRARIF o e Haws e 2
A) TS = o’a (B) &« (ool
(C) 3’7 weef (D) SCett Acel
56. od (P gFee e HarE! fece 2
(A) SIS S atal (B) & (oTele
(C) <9 ce (D) SICetTs &l
56. TEEE TFE AR AR Y@l Hai AT ¢
(A) Tirsee 97 ™ (B) SH &=
(C) =9 Tl (D) e e’
56. ffdiad H € &M T& UiHg foaesr on?
(A) Tage 3 (B) S o
(C) e ATt (D) e Set
57. In which sport do Tania Choudhury and Nayanmoni Saikia from Assam represent

57.

57.

India?
(A) Lawn Bowls (B) Badminton
(C) Carrom (D) Judo

TPT WIfeRTl (P! S T *BFRR (FARY (LeTe e aAfefiig w2
(A) 3 (B) fioa

(C) &Y (D) ol

PTG IfeRll (PR @R TR *BFRA (T (I SRCed 2AfsfiiRg a2

(A) =T =T (B) TG
(C) N (D) sl
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57. STEM QU= g TR FoA FEfRamen wRat W a1 e ?

(A) & ad (B) sefimeq
(C) (D) 9%
57. 318W i aii-En =il 3R FEEt afrn frm B 0 wra @ gfafAfees et 87
(A) @ afa (B) defieq
(C) (D) =t

58. Identify the Badminton player.

(A) Dipa Karmakar (B) Pullela Gopichand
(C) Sania Mirza (D) Leander Paes
58. (TURD (ERTRFT DS T |
(A) T TR (B) ~[caweT ConAow
(C) w=ifera it (D) fEeR e
58. JACD (YRS T T+ |
(A) TN FAFE (B) “[cseT calPiom
(C) iferan e (D) FrEem e
58. dgfieeq Teumat iy
(A) <1 FHRR (B) geiel =g
(C) @t furst (D) ferre |
58. dsfier faardt = vg=niHu|
(A) T FHHBR (B) geiall =g
(C) @ fusit (D) fetget wm

59. In which sport did India not win a medal at 2020 Tokyo Olympics?
(A) Boxing (B) Weightlifting
(C) Taekwondo (D) Wrestling
59. 2020 B’ T RIS (FARY (ETS (FICAl 77 e w1 7ifee 2
@A) I 1= (B) SIAICSEH
(©) BRI (D) WL

SLRC-2024/P-111/ 1-D 44



59.

59.

59.

2020 (BIfFS TR OIS (el (LT 70T CSCoie] ?

(A) TEg= (B) SIACSEN

(C) DRCFRICT (D) %

2020 HAEATEM 2fRsT fifriess IeREAREE YRl 99 To-EE Jed JibTE ?
(A) AR (B) Tifer s@mm™

(C) dTEHATE (D) TEHARHTR

A 4 2020 2 3N 1 fore @ § gees &t Sfar?

(A) HeraTst (B) HRIRIeH
(C) drI=HIEt (D) el

60.

60.

60.

60.

60.

The Diamond League is an annual series of competitions in which area?

(A) Swimming (B) Badminton

(C) Gymnastics (D) Track and Field Events

T 2fScaifare™ W2el TRE s Sl (FERY (47 OIS oS 2

(A) TCeR (B) @B

(C) fegenf = (D) GF < fFeq (49
I efScaiferer e TRAS fefol (P (3= e TS 2

(A) >TrorE (B) TCRrDe

(C) TEmemiGe (D) TS @< freeeq e
Y SN SERAEAEE B SRM € form o4 RS gl 17
(A) gEREER (B) gt

(C) fommfes (D) 3% TR HIUWE TR e
grme o form wat # ufeenfiarsti it we anffes e 87

(A) TRl (B) srsfie

(C) fommfeesa (D) 3% 3R fFiee B
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61. Identify the correctly spelt word.

(A) Moderator (B) Moredator

(C) Modarator (D) Moderetor
61. 7 IS ! (oIS 5 |

(A) Moderator (B) Moredator

(C) Modarator (D) Moderetor
61. SIS ARG *<M *F1S T |

(A) Moderator (B) Moredator

(C) Modarator (D) Moderetor
61. TRIFY T AiREE! |

(A) Moderator (B) Moredator

(C) Modarator (D) Moderetor
61. W&l ! ATl ¥R HI TEETT

(A) Moderator (B) Moredator

(C) Modarator (D) Moderetor

62. Which of the following words cannot be made using the letters of MENDICANT?

(A) MEDICAL (B) MEDIAN
(C) DETAIN (D) ANCIENT
62. MENDICANTS S[4T2 <211 (< PR (1G] =197 oiow F{< i< 2
(A) MEDICAL (B) MEDIAN
(C) DETAIN (D) ANCIENT
62. MENDICANT-¢3 SFFa%E J2R FCH NIChA (I =[5 90w 1 AR 1 2
(A) MEDICAL (B) MEDIAN
(C) DETAIN (D) ANCIENT
62. MENDICANT f SRaT®RE! SerAH MeRf o« dieee! aH1 g ?
(A) MEDICAL (B) MEDIAN
(C) DETAIN (D) ANCIENT
62. ffafad # @ FH-11 356 MENDICANT o 31 61 TN ek AET ST ST ekl 87
(A) MEDICAL (B) MEDIAN
(C) DETAIN (D) ANCIENT
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63. At the Youth Parliament, certain number of country representatives sit in a linear
row and all are facing the audience. Only ten persons sit to the left of Estonia. Fiji
sits eighth to the left of Estonia. Angola sits fourth to the right of Bahrain. Canada
sits to the immediate left of Denmark, and Denmark is the third from the extreme
right end of the row. The number of countries between Estonia and Denmark is
same as Bahrain and Estonia. Only six countries sit between Angola and Canada.
In total, how many countries are seated at the Youth Parliament?

(A) 19 (B) 21

(C) 32 (D) 17

63. 9B I ALTO (BN (7 adfoffy mfatel q9 o Gebl [ qf2ee | GEfeR qeFE
(e wRAIF! TS 02 | GBI ST TEY Teo e qfRer | ARG A9 OE v
FITe QLo MR | (TN 05 qeFIca A2 WeR FCl, S (THE MRCOE QeI
CTFIEE Y99 791 PORl FITo (R | GBI SF (TGS qeq ([ R q=eqe IE
GERRIT S (I FRAT (0O AN | el S PIACH Jere qq == (e 2 ee | 39
AT oo e (o afefafy af2 =em 2

(A) 19 (B) 21

(C) 32 (D) 17

63. I3 7w, fWE e oree afeffaar 3 Mfice IeTce @3 ST weeE AR | 1 e
GEIFRR AW WE 30T wice | S, @R A OB B 00 | S, ARCEeed
T B9Y B TETR | FIICI, (TNICE 0% AT TETR @R (T A 5 T 2013
(ACF PO | TR €3 (TR & (O AR ARCH2A G GCRIRIE T | S G
FCE T A1 TG (7 ICTCZ | I3 T (15 6 (0P 0T ACACE 2

(A) 19 (B) 21

(C) 32 (D) 17

63. U EHH HOEd HREW BElH AHRl ARITBRETY Al SHW - 9iR wiiEre e |
e et st anfster’ aefeer et | et v fanfa emrfatafaem aeatemma) om'amn
TS ATERIARE gforma SRRl wHEr STHehE TS ASe-T Sl AT aTiie
eI ety mifeEna €| uEd 9 TR SHTeh(d TSRIa S B €, STeisd TR U St
TSIl THETSHI | 37 AT AR HETSTH Toe Teel gethi fSE! | T8 Tl geld aa®i o

AT GoeTd fREET €7
(A) 19 (B) 21
(C) 32 (D) 17
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63.

o e i o Bl den & 3 % aRRR T de 9§ A § sk wh wi B R g
Fh 93 BId | TR Y 91 I et 5@ =AfE 93 21| fhsft, wRifien ) 91 @i smed T W
B T, SEiF % o & =Y T W B | FAST, ST % Ik 918 S 937 2, I ST Utk
sifom o BR ¥ R T W )| TR oK S % | 2w B @ sl ok e &
THM 7| I 3R FATST & i hadl D8 99 d3d & | Fol et fohas 31 gar |9 § dad 87
(A) 19 (B) 21

(C) 32 (D) 17

64. Which option is similar to Pencil : Student : School?
(A) Mouse : Eat : Biscuit (B) Computer : Officer : Bank
(C) Pen : Writer : Book (D) Cash : Shopkeeper : Goods
64. (T Re (vifdest : Frmalt : Rwprer sasa 1 2
(A) fsif o ;oo (B) I+[TOR : [ : @F
(C) FoI9 : (14T : fF@rl (D) 5% : (AR < AT
64. @ RTEl cofer : wi@ : KeEr-9a smel 2
(A)%@:ch:ﬁ%j? (B) IF+ToE : wfawi< : %
(C) T : (314 : 32 (D) «4% : AP : 7Ty
64. & ToT U - HUFHT : BT ST qH 7
(A) TSR : S : foge (B) HHER : Hia@ filt : S
(C) W : ferfiit : foutmar (D) T8 T : TARR : s@E
64. -4 foshed U : B - TRA o THH 7
(A)ﬂ@’[:@ﬁ:ﬁf@lﬂ (B)W:af\wzam
(C) W : i@ : fopara (D) e : GHMER : THH
65. If REAR = 42, TEAR = 44 and DEAR = 28, then which of the following sets is

65.

incorrectly paired?
(A) PEAR = 40 (B) FEAR = 32
(C) BEAR = 26 (D) GEAR = 31

I REAR = 42, TEAR = 44 9 DEAR = 28, (O3 FHfR® (& @[ oreg 2
(A) PEAR = 40 (B) FEAR = 32
(C) BEAR = 26 (D) GEAR = 31
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65. M REAR = 42, TEAR = 44 @3 DEAR = 28 2, O3 II(b4 (FFM To1 (&1l 2
(A) PEAR = 40 (B) FEAR = 32
(C) BEAR = 26 (D) GEAR = 31

65. §f¢ REAR = 42, TEAR = 44 3l DEAR = 28, 3scll MMM el ST o5 U &l ¢
(A) PEAR = 40 (B) FEAR = 32

(C) BEAR = 26 (D) GEAR = 31

65. Ifc REAR = 42, TEAR = 44 3 DEAR = 28, df fifafad o & #9-81 92 Tad o+ 4

Srer T 27
(A) PEAR = 40 (B) FEAR = 32
(C) BEAR = 26 (D) GEAR = 31

66. Find the best option to fill in the last term :
CIRCLE : GEOMETRY :: POETRY : ?

(A) CHAPTER (B) BOOKS
(C) PROSE (D) LANGUAGE

66. G ~MCH] 71 PAIT TS [AFECH! oo T
Te : TS :: el @ 2
(A) RO (B) @
(C) oM (D) =m
66. ¢~ *[<CR T Ol Reafs o -
e : TS :: el @ 2
(A) SR (B) F2
(C) o (D) =&l
66. SIS HIGERE! 3Tg WA Trefeq bt g’ -
G : AY ¢ G
(A) I (B) femtmar
(C) TS (D) 1=

SLRC-2024/P-111/ 1-D 49 [ P.T.O.



66. 3ifdq 9e sl Wi & fou gaiay faeres @ifs
T« SATHIA :: 1T« 7

(A) ™ (B) J&Th
(C) T (D) e

67. Identify the pair with the same relationship as Child : Vaccination.

(A) Fever : Medicine (B) Food : Cooking
(C) Plant : Pesticide (D) Animals : Food
67. g : B el TFRYS @RI Pre w4 |
(A) &9 : &Y (B) < : I
(C) Tfew : o (D) &% : ¥
67. g : BFael-9a Fool G2 T gfo e F |
(A) =9 : 8y (B) <« Sl
(C) Tfew : Jioars (D) =@« <
67. T : TaumEw amfe dHEr T SREE R
(A) AHSTHE : gfd (B) 3I&R : T
(C) Sl : Tl frerman (D) e : 3ATRR
67. AT : FHH % TUH Hae ATt SIS ! Ted hifere |
(A) @ : qdn (B) @M1 : 9ehrl
(C) e : TS (D) 9 : HISH

68. Which of the following words would not fit correctly in the sentence?

The person died of a hit on his head.

(A) lethal (B) fatal
(C) deadly (D) subtle
68. IR (FIFCE! =% 27S O Q17 T 2
PR ST FoTS G T9F (2T |
(A) wETT (B) er=ret
(C) T_Ig (D) ™
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68. ‘el MW IS (7[F [ I 177 @3 IRHHCe AEI (@Fle *F00 AP A9l A/

«?
(A) w®OTIS (B) le=rel
(C) T (D) =
68. TEEM 99 AR A HE SIUTEE Gd STHE TST17
o R WA QST 9T
(A) Fr@ema (lethal) (B) WU (fatal)
(C) figerqg (deadly) (D) 31 (subtle)

68. Fmfifiad & @ -T1 s I A W&t @0 ¥ fohe & amm?
fR®W__ 9ER @ =afw it Oid 8 T
(A) =ITdh (B) SHeran
(C) AR (D) Hg

69. What would be the correct sequence of the following words as per the standard
English dictionary?

1. Royal 2. Regal 3. Renal 4. Rebel
A) 1,2, 3,4 B) 4, 3, 2,1
C) 4, 2, 3,1 D) 4, 3, 1, 2

69. S BIAE! TfSYF SFPIR 2fe TR W R0l F 272

1. Royal 2. Regal 3. Renal 4. Rebel
A 1,2,3,4 B) 4, 3,2, 1
) 4,2,3,1 D) 4, 3, 1, 2
69. 31> S (G TSy SR 2ie WS AT T F 23 ?
1. Royal 2. Regal 3. Renal 4. Rebel
A 1,2,3,4 B) 4, 3,2, 1
) 4,2,3,1 D) 4, 3,1, 2
69. TE AT 3OS Aad fogem™ oHE aRfed s B 71 S
1. Royal 2. Regal 3. Renal 4. Rebel
A) 1, 2,3, 4 B) 4, 3,2, 1
) 4, 2,3,1 D) 4, 3,1, 2
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69. T TS IeqehITT & FTFER 37 Tsal 1 Tl A T 2T?

1. Royal 2. Regal 3. Renal 4. Rebel
A) 1,2,3,4 (B) 4,3, 2,1
C) 4,2, 3,1 D) 4, 3, 1, 2

70. Select the appropriate number to correctly continue the sequence 27, 30, 37, 50,

?, 98.
(A) 69 (B) 73
(C) 81 (D) 91

70. 27, 30, 37, 50, ?, 98 *RYECH W&(F NBIRE A GRS AR +-6 399 |

(A) 69 (B) 73
(C) 81 (D) 91

70. 27, 30, 37, 50, ?, 98 @b T BRI @Ce TR 7RG =15 et |
(A) 69 (B) 73
(C) 81 (D) 91

70. HIE! oS ATTTEATRH STRSTTE SHSHRE! 9 |
27, 30, 37, 50, ?, 98
(A) 69 (B) 73
(C) 81 (D) 91
70. ITHA H UL @1 ¥ T WaH * fore 3fa wen @ == il
27, 30, 37, 50, ?, 98
(A) 69 (B) 73
(C) 81 (D) 91

71. Pallavi claims to be taller than Jyoti, but Smita who is taller than Pallavi knows
that Pallavi is wrong. Which of the following can be said about their height?

(A) Pallavi is definitely shorter than Jyoti
(B) Pallavi and Jyoti are of the same height
(C) Smita is the tallest of the three

(D) Cannot be determined
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71.

71.

71.

71.

HIAA 7K P @ ©F (enifoecs €<, 7 Ee(d e Mo’ @ @ “@Edq Ofe oo |
(SSEF Tl F=oFe Rl @eco! $'9 “fF 2

(A) 7RI B (SfoetE BI%[

(B) /@1 S (enfed Twel S

(C) farer fefeRIS TRIces e

(D) ey 77 it

[F1 Tcece (Sifed (5@ o751 Jce Wik eq, % o), @ “F3 6 o/ O & @ 7@l
ST | OISl e I (PG @ T 2

(A) = SR Cenlfe Cbe ICh!

(B) “I@dl @R (s «F3 THOR

(C) Fro fomecem Sea ™

(D) Teefme =1 T =1

ugsfan Meet safafgg Sifem g o, e agsitagg Sifts faarn ugsft amamEn G
B THfemTt | forief Shtermswell S e e e ?

(A) gl Sfdfrge TEem

(B) Ugst R Safc=n w@e MSh

(C) feurarn wumfy TeE i

(D) T &

ugell, St | @&t B H1 a1 HwA 7, Al fEan, S uget @ @t 8, St @ R agdt e 2
TRl S & =R § frfafiad & @ o et S gehar 27

(A) uge fifea w7 @ s=fq @ B 2

(B) "get 3 seifa it <ers wHe 2

(C) oar =t & T=@ @il B

(D) T & fopam S wekan

72.

At a college function, Romola pointed out to an actor and said, “He is my
mother-in-law’s only son’s nephew”. How is the actor’s mother related to Romola?

(A) Aunt (B) Daughter
(C) Niece (D) Sister-in-law
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72.

72.

72.

72.

TS GF SEPITS AR G SfScToe SIghrR 1, ‘(08 (N MR WZq GG I
Tl | TR OO TS IOl Noq 75 15 2732

(a) ¥ (B) Gl
(C) eiferet (D) 7w

[YEaaS

GFH FCACEH SR, TN GG SfecTor e 2fere Fa qcerreeer, fofl smm *mefe
GG (2CEE S | ST N I967 A Fred F=oIFe 2

() = (B) I

(C) =i (D) =

T T O SETRIEE W SRl formm guam, o onfy fegasnf
e’ feeTents fomme | et fomrsit wete @1 de S

(A) forme (B) st

(C) forme (D) e

T Fictsl GARIE H, UHICT A Teh AT hl TR W FLd Y hal, a8 H T4 o halld o
e &7 | i Y wf 1 Aaen ¥ o Hey 27

(A) = (B) =&

(C) st (D)

73.

73.

73.

Find the best option to fill in the third term :
Gravity : Newton :: ? : Copernicus
(A) Blood circulation (B) Heliocentric system

(C) Rocket (D) Radioactivity

TOR ACHI #@el SRR TR [FEch! e 59
TR : 1o 2 2 FARRR

(A) TS AR (B) s fiem
(C) T (D) CoafEEel
o oMb et G R e g

T - o 22 2 ¢ IR
(A) TS AL (B) AT ©oF
(C) b (D) CowETSl
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73.

iy HiSEE! 317g WA drea i et g
TS ;e ¢ : FHuIHE

(A) & TERE™ (B) ez =
(C) The (D) =1 gty
73. T U8 H W % T gaaH foaehed @IT
TECATRYT : A :: 7 HIOHE
(A) T IRE=ROT (B) GI-hiseh omeft
(C) Tehe (D) Yeafifar
74. Consider the four numbers given here :

74.

74.

74.

I. 376 II. 629 III. 921 IV. 397

If the digits of each number are arranged in ascending order, which new number
would be the smallest?

(A) III (B) II
(C) I (D) IV

2ve BIfRDT 127 R 399
1. 376 I. 629 III. 921  IV. 397
2IfSCHT TR TG THGAS G (D] Tgel IR [ TPeToq 23 2
(A) III (B) II
(C) 1 (D) IV

e e DR Ly [ T
I. 376 II. 629 III. 921 IV. 397

2(fofb AR STRBRIT TR ANl 2Ce, (@ Toe A0 Fuew 263 ?

(A) I (B) II
(C) 1 (D) IV
B A SESHRIE! TSI 8

I. 376 II. 629  III. 921 IV. 397

Sfe AHBTEl AR foameRE! Sie™ BIiETE Jse, STeel §¢ MM SHSHRT Safigs
A ST ?

(A) I (B) II

(C) 1 (D) IV
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74. 5 € TE IR e ) e fifvw
1. 376 II. 629  III. 921  IV. 397
Ife Yedeh TEAT 1 AL HH H HIfed foram S, @t sH-H T2t 9 ged I 27
(A) III (B) II
(C) I (D) IV

75. Find the odd one out.

(A) Sparrow (B) Crow

(C) Bat (D) Peacock
75. Sf¥el *=co [oR Series |

(A) fofae (B) I

(C) < (D) < B4R
75. [ {oe @9 v |

() veR (B) =T

(C) e (D) 3R
75. TR HidEE TR G|

(A) @I (B) =r3@n

(C) mamTte (D) =T=TE
75. AU = g

(A) TR (B) =T

(C) =meS (D) R

76. Pointing to Sarat in a photograph, Malini said, “His brother’s father is the only son
of my grandfather”. How is Malini related to Sarat?

(A) Aunt (B) Grandmother
(C) Mother (D) Sister

76. @3 TOHETS *[eq e WghrR MieE $eE,— (o8 Tred Pre (@9 FRITer
GG TG’ | o1l *[ed AT (el AT T=F@ 2

() @ (B) wizl
(C) g (D) =@
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76.

76.

76.

G B[S *[e-99 e 3fere e el e, “OF SiREd el MR oMz« a
e’ | el eI *[R-9F ACF T{fFe 2

(A) I (B) Proma

(C) e (D) <@

MR WAt e oA " gam, i foerf fowen e et aa’ e’
ATt A TA ST |17

(a) fomme B) faa

(OREL (D) T’ /fommma

T TR IR A AR TR FA g AR T Far, SEh wié & fiar W st F gehedd 9o
27| wiferhl, Tra § fore TR el 27

(A) = (B) =mdt

(C) = (D) =&

77.

77.

77.

77.

77.

If ROBOTICS is coded as OROBITSC, then PROJECTS would be coded as
(A) ROPEJTSC (B) RPJOCEST
(C) RPJOECST (D) ROJPCEST

gt ROBOTICSE OROBITSC 2513 ¥°T 41 =¥, (98 PROJECTST F°T 2’9
(A) ROPEJTSC (B) RPJOCEST

(C) RPJOECST (D) ROJPCEST

g% ROBOTICS-¢d AFe OROBITSC T, ©d PROJECTS-¢F AF® 2@
(A) ROPEJTSC (B) RPJOCEST

(C) RPJOECST (D) ROJPCEST

Sf¢ ROBOTICS f %a1 OROBITSC, 37l PROJECTS T &ar1 SImi=

(A) ROPEJTSC (B) RPJOCEST

(C) RPJOECST (D) ROJPCEST

e ROBOTICS sl OROBITSC & &4 ¥ whifed foam SaT 8, d@f PROJECTS &l f5& &9 9
e foran ST, 9% 2

(A) ROPEJTSC (B) RPJOCEST
(C) RPJOECST (D) ROJPCEST
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78.

78.

78.

78.

78.

In a zoo, the lion’s cage is towards the East of tiger’s cage. At the exact South of
the lion’s cage, there is bear’s cage, which is towards the West of cheetah’s cage.
In which direction is the tiger’s cage from the cheetah’s cage?

(A) South-East (B) North-West
(C) South-West (D) East

b1 RIS Fike SIQEh! A9 SI9ET 77 FICa S0 | PR sl 0% wE Fce Sfeed
ST =C, ! TORTET SiqeTa 21T FICaT SM1CE | 99 SIQ1eTCo! ORER S Qe 2[l (ol e
9fF 2

(A) wFEFI-77 (B) Te-7If5x

(C) w=Fal-#{f*5x (D) *7

&5 e Fisce <1 ieaw v = o 1| P <o B wfiwed qerce eeea 4w,
oo bR~ e | oo <161 (AT ACTI 4161 (FIe e 2

(A) wfEpe-o (B) Te-#iou

(C) wfEal-oIfs (D) 7

o SReTterre fe' S wrsier dafy wreiiy aesren e weeii @ ged
BT ST ferarfe et dmmete | qents st fearf wesid sefs omar?

(A) TETAT-FHSTI (B) GI-HHTEIT

(C) EeAT-HHTEIy (D) FESIT

T Tafeamer § TR 1 fUS, o o fUSR o 99 ol 3R 2| IR o TUSR < 3ie 3f&r § wie] 1 fus
2, S0t =fiar & fUsr @ ufem < 3R 21 <far & G @ s o T fore feqm 4 27

(A) afegor-gd (B) IW-ufzm

(C) afequr-ufzm (D) &

79.

79.

At what speed should a car travel on a highway to reach a destination 12 km away
in 15 minutes?

(A) 64 kmph (B) 84 kmph
(C) 48 kmph (D) 36 kmph

ere 12 . [, 7999 9% T4 15 FEGS 0o AR 9¥a J699NCi e (@ @l FR
w7 2

(A) 64 5. fi. afs g6 (B) 84 . fi. afs g4
(C) 48 . fi. afs g (D) 36 . fi. @fs gb
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79.

79.

79.

«3f5 NS e T aifere goce 15 MFIG 12 bR 1@a o8y e 2

(A) 64 . fi. afs g6 (B) 84 . fi. afe g
(C) 48 . . afS b1 (D) 36 . . afS 961
Y TSI T8 TR s @RSt @R 15 fbfem 12 o fio meme ggm=?
(A) & ZEmE 64 fho o (B) @ ZrmE 84 fho o
(C) ® 2 48 o fio (D) = 2@ 36 fho fio

15 fime 12 Framier ¢ foret TTaea @ Tger & fOTT T R o1 TSRl W o TR | e
=few?

(A) 64 Tho o Hfd =T (B) 84 feho o ufd =

(C) 48 foho Hio Ufd =rar (D) 36 foho Hio Ufd =rar

80.

80.

80.

80.

80.

Which word would be the last in a standard English dictionary?

(A) ADVERSE (B) ADVENT

(C) ADVENTURE (D) ADVERTISE
G5l F Q& FFSYITS (FIICH! ¥ e 21fHa 2

(A) ADVERSE (B) ADVENT

(C) ADVENTURE (D) ADVERTISE
I 220 SSAICA (I 310 (1T AP 2

(A) ADVERSE (B) ADVENT

(C) ADVENTURE (D) ADVERTISE
AT S0 Hid fogeTa o« AR AR ST ¢

(A) ADVERSE (B) ADVENT

(C) ADVENTURE (D) ADVERTISE
A 31U Yeehlel § HF-91 s Afam gm?

(A) ADVERSE (B) ADVENT

(C) ADVENTURE (D) ADVERTISE
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81.

81.

81.

81.

81.

When the numerator of a fraction is multiplied by 4 and the denominator by 9,
the fraction reverses. The fraction is

(A) (B)

(€) (D)

NSNS, BENG RN
Nw WIN

9B SN T 4 (T S 295 9 (T {9 FICo SARIHN ARSCE CoI1=TT T | S2ACBI (=R

(A) (B)

(€) (D)

NSNS, BNG RN
NIw WIN

G5B SR T[T 4 TR 92 TACF 9 AT Q9 T B¢el AT TeH AR | oA 2o

(A) (B)

NSNS NG I NN
N|w WIN

(€) (D)

sl MY SEEERI BHE 4 S AFSTel R @l 9 i, o siEeELien oo fifeet| o
ELCICICIEH 1]

(A) (B)

©) (D)

NSNS, BN, J NN
NlWw WIN

o fopelt foret & @791 1 4 @ R = R 9 B Ton FoRa wran B, A fw Sere San 2| 9 e @

(A) (B)

IS NS, NG J NN
N|wW WIN

©) (D)

SPACE FOR ROUGH WORK

SLRC-2024/P-111/ 1-D 60



82.

82.

82.

82.

82.

At what percentage of simple interest does an amount of money double in 12 years?

A) 919 (B) 81%
2 2
o) 8l D) 919
(€)
3 3

] 0@ (FICA] Joke 12 =TT YT 139 27031 9 o] B« [ 2'9 =A1folq 2

A) 92% (B) 8=%
2 2
1 1

(C) 8=% (D) 9=%
3 3

T IO TS XTI 2 Forel 12 = g 272

&) 919 (B) 81%
2 2
1 1
(C) 8=% (D) 9=%
3 3

Y @ SR 58 g TR g3 JHeall 12 SHNE o STTEIe B ST ?

1 1
(A) 9=% (B) 8=%
2 2
1 1
(C) 8=% (D) 9= %
3 3

TR 7S o fohe Wfererd W I eafer 12 aut # ST 2 STeft?

(A) 919 (B) 81%
2 2
1 1
(C) 8=% (D) 9= %
3 3

83.

The ratio of the radii of two circles is 1 : 3. The ratio of their areas is
(A) 1:6 B) 2:9
C) 1:9 (D) 6:9

SPACE FOR ROUGH WORK
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83. 7Bl J99 PGS ST 1 : 3. € O CFaFor SFre 2'q
A) 1:6 B) 2:9
() 1:9 (D) 6:9

83. b J0eT TPMCHA SAAT® 1 : 3. I CFIFCT TS 2

(A) 1:6 B) 2:9

(C) 1:9 (D) 6:9
83. SEH WA FEEHRH Fsr@m 1 : 3. o sl sgsmmn

(&) 1:6 B) 2:9

(C) 1:9 (D) 6:9
83. a1 Tl 1 Hreomaedt 1 U 1 : 3 B 1 I &kl T IA BT

(A) 1:6 B) 2:9

(C) 1:9 (D) 6:9

84. 100% of 100 when added to 200% of 200 would result
(A) 300 (B) 400
(C) 500 (D) 600

84. 1003 100% I 191 200 I 200% sl FHeT Folee] 2
(A) 300 (B) 400
(C) 500 (D) 600

84. 100-49 100%-9d ¢ 200-99 200% (97 FHCET FeRFe] 2(J

(A) 300 (B) 400
(C) 500 (D) 600

84. 1004 100% 3 200TF 200% @t TIETsAT WA
(A) 300 (B) 400
(C) 500 (D) 600

SPACE FOR ROUGH WORK
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84. 200 & 200% T 100 &1 100% Se+ T YoM T8 &
(A) 300 (B) 400
(C) 500 (D) 600
85. If a+b=8, b+c=20 and a+c=18, then the value of a?+b? is
A) 34 (B) 43
(C) 46 (D) 64
85. M a+b=8, b+c=20<F a+c=18, (B a’+ b2 I I 2’7

85.

85.

85.

(A) 34 (B) 43

(C) 46 (D) 64

T a+b =8, b+c=20 GR a+c=18 2 O a° + b?-4q I &
(A) 34 (B) 43

(C) 46 (D) 64

S a+ b =8, b+c=20 3R a+c=18, 37 a? + b2 1 A
(A) 34 (B) 43

(C) 46 (D) 64

It a+b =8, b+c=203ﬁ'(a+c=18,?ﬁa2+b2?ﬂﬂﬂ%
(A) 34 (B) 43

(C) 46 (D) 64

86.

86.

If 2% =32, then the value of x is

(A) 4 (B) 5
(C) 6 (D) 7
M 2% =32, (B x I I 27

(A) 4 (B) 5
(C) 6 (D) 7

SPACE FOR ROUGH WORK
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86. IM 2* =32 7, O@ x-9F T 7o
A) 4 (B) 5
(C) 6 (D) 7
86. Jfd 2* =32, 3t x 1 wA

(A) 4 (B) 5

C) 6 (D) 7
86. A 2% =32, A x HI AN B

(A) 4 (B) 5

C) 6 (D) 7

87. The sum of 5 consecutive odd numbers is found to be 95. The largest of the
numbers is

(A) 17 (B) 21
(C) 23 (D) 19

87. 5B FRT S TR (5T 95 (711 21’31 | FRYCFLHN SBRST ST FLACH! (R
(A) 17 (B) 21
(C) 23 (D) 19

87. 56 TN S TR @oRFe 95 “1€q] (9fe1 | FRYIB Ty 2 29

(A) 17 (B) 21
(©) 23 (D) 19

87. HINA HH 5 o T SHSHIBR TSR 95, g SXfe ISR SITem
(A) 17 (B) 21
(C) 23 (D) 19

87. 5 HHNA fawq Teetl o1 A 95 YR ST | U SiEl G §
(A) 17 (B) 21
(C) 23 (D) 19

SPACE FOR ROUGH WORK
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88.

88.

88.

88.

88.

If the decimal number 34p5 is divisible by 9, then the value of p is
(A) 8 (B) 7
(C) 4 (D) 6

T I RN 34p5 (B 9 (J oSy 27, (9% p I I 23
(A) 8 (B) 7
(C) 4 (D) 6

g i =20 34p5 B 9 771 [orey =7, ©=es p-9d T4 33
(A) 8 B) 7
©) 4 (D) 6

Sfe e s 34p5 @ 9 i TASAN, 3Fsel p i A
(A) 8 (B) 7
(C) 4 (D) 6
Ife aemed G 34p5, 9 W fawrsa B, @1 p 1 AE B

(A) 8 (B) 7
(€) 4 (D) 6

89.

89.

The maximum area of the circle that can be drawn within a square of side 4 cm is

(A) 412 cm? (B) 4n cm?
T 2 n? 2

(C) —cm (D) cm
4 4

4 (5. . qr2q I9(CFg @OR fooae a7/l I GO AEH CFawel 27
(A) 4n? <sf . . (B) 4n 3sf 5. fX.

© Ll 6 R D) ™ oof 5. .
4

SPACE FOR ROUGH WORK
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89.

89.

89.

4 (1. . I=RME @I I5CFa @ SFCe |l Jred A CFIFe 207

(A) 4n? 3o @1 fi. (B) 4n 3o 1. fil.

©) %a‘rf . i D) ™ oof 1. .
4

4 9. fg. et mar i foee a9 eam swat T st
(A) 4n? et @, fin, (B) 4n =t 9. fir.

© Tt o D) ’faﬁa. fr.

4 Ho Hio ATHR & Tk a1l & ik Wi ST bt a1t I 1 ATIhaH &%t @
(A) 4n? =t Fo Ho (B) 4n a1 Ho Hro

() %aﬁ@o i (D) ’faﬁao o

90.

90.

90.

If today is Sunday, then the day after 92 days will be
(A) Saturday (B) Friday
(C) Sunday (D) Monday

T o1& IR 2, (o0 92 Werg I9 fefchl 2°7
(A) == (B) &N
(C) @™ (D) CIFEIR

I S AR =, ©zeE 92 el #[cdd faelo 2@
(A) e (B) w&E
(C) A= (D) CIE

SPACE FOR ROUGH WORK
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90. Jfe feaft o feem, stean 92 wmfy 3@ A1 wE SAFTAY
(A) TIHER (B) FHIR
(C) s (D) ¥R
90. Ife 37 oar B, a1 92 fedi & =g w1 fed g
(A) wHER (B) AN
(C) Tam (D) AR
91. When three times of a given number is subtracted from the square of the number,

91.

91.

91.

91.

the result is the number itself. The number is

(A) 4 (B) 2

(C) -2 (D) -4

I §F TR 9T 2[1 FRAIGA o g [l IR 777 @3 TRANGIER Il I/ |
FRYICT (22

(A) 4 (B) 2

(€) -2 (D) —4

«3f5 2 AR fo @9 Ramba o (AcF Ree T 2@ RN RoiR 2R wramfoe e
TR | R =E

(A) 4 (B) 2

(€ -2 (D) -4

Sfe wFE SHfSETE it S arstememet a@ A, Tee o o s s s
STE

(A) 4 (B) 2

€ -2 (D) -4

S foreft " @1 o T 39 g % ot ¥ uer femn Sar 2, At uform ad g w21 9
& 7

(A) 4 (B) 2

(€ -2 (D) -4

SPACE FOR ROUGH WORK
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92.

In Roman numeral, XCI represents the decimal number

(A) 41 (B) 21
(C) 91 (D) 111
92. (I MM XCI @ TSN W AL (207
(A) 41 (B) 21
(C) 91 (D) 111
92. @ MY XCI =l fofee 1w 745G a1
(A) 41 (B) 21
(C) 91 (D) 111
92. WM FWEE XCI 1 Fwfier smfmmn s
(A) 41 (B) 21
(C) 91 (D) 111
92. UH 37k § XCI 59 S3mera g&a o1 gidiited i g, 98 8
(A) 41 B) 21
(C) 91 (D) 111
93. A ladder of length 13 m is leaning against a vertical wall with the upper end at the
height of 5 m. The horizontal distance between the foot of the wall and the lower
end of the ladder is
(A) 9 m (B) 5 m
(C) 11 m (D) 12 m
93. 13 . trdiq w¥ell quel TeTy (TR GYTO (T 1 SR WIE RN €O Iqeol 5 . Twere

IR | (AR AR S G4 ©eTq I A6 S F 799 (20T
(A) 9 fi. (B) 5 f.
(C) 11 . (D) 12 fi.
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93.

93.

93.

13 . trceia (b 2 @3> Torg (reACER Y QTSI (E W’ @ R Tecaq A% 5 .
TN SIS | (TSTICET Mo G- B TCod AT T Segie 79 251

A) 9 fi. (B) 5 .

(©) 11 f. (D) 12 fi.

13 i1, Tt STieet TToRE! IRTR STEmE WS 5 i, Shumsamd @R 8- SHe | s’ ATeTt—w=
THE St meEf i ST aw?

A) 9 fa. (B) 5 fu.

(C) 11 fu. (D) 12 fa.

13 Hio Tl U WG Tk FeATeX SR W Rl T8 o, et Fud {5 Ho il F9E W | &R
% fi=ct R o @it & frea fR & o= i afos gt @

(A) 9 Hio (B) 5 Hio
(C) 11 #io (D) 12 #io

94.

94.

94.

94.

The median of the sequence of numbers 2, -1, 3, 1, -2, 5, 6 is

(A) 1 (B) -1
(C) 2 (D) 3
2,-1,3, 1, -2, 5 6 RAEICGE TN (202

A) 1 (B) -1
C) 2 (D) 3

MY O 2, -1, 3, 1, =2, 5, 6 -9aF T 257

A) 1 (B) -1
C) 2 (D) 3
sAfm wiit 2, -1, 3, 1, -2, 5, 6 TorAmEn

(A) 1 (B) -1
(C) 2 (D) 3
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SLRC-2024/P-111/ 1-D 69 [ P.T.O.



94.

TS % gEA 2, — 1, 3, 1, -2, 5, 6 H HILTH ©
(A) 1 (B) -1
(€) 2 (D) 3

95.

95.

95.

95.

A person moves along a path such that he is always away from a given point by
7 m. After moving for some time, he again reaches his starting point. The
approximate distance the person moved during the time is

(A) 22 m (B) 44 m
(C) 122 m (D) 144 m
e T2 ¢F awe [{vE «[1 e 7 WL yeg e R @ @i cees oife w1 ey

GeTcd oife IR (98 T TG ARTN FTe TS 2N | @2 AT (96 TOFH 91 79
ST 1 (207

A) 22 fi. (B) 44 f.

(C) 122 f. (D) 144 3.

gFE e G G 7Y 4eq b @ O T @i [iE [y e 7 W wag qew Ay |
PRl Dol A9 O WA O dAReS e e | @@ e (oo fefby wfoa e 91

RIS 79 2e

(A) 22 f. (B) 44 fi.

(C) 122 fi. (D) 144 .

T WHIGET 9 S STREE O el S R A fege Seamet 7 . mieme o
U Y JEREAEE A R e RS SRR G| § AEEE e S99 e
TGN ?

(a) 22 fa. (B) 44 fr.

(C) 122 fa. (D) 144 fi.

SPACE FOR ROUGH WORK
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95.

T SHfth Ueh 99 T 36 TR =erdl € T 9 fou e vk fomg @ ghwm 7 o g @Al 81 $® R e
% 916 98 QA 30 TR forg W Uge San 81 39 §HE % QR e g a9 ht TR STgETea

UK
(A) 22 Ho (B) 44 Hio
(C) 122 Hio (D) 144 o

96.

96.

96.

96.

96.

A cube of volume 1 m? is cut equally into smaller cubes of volume 1 cm? each. The

number of smaller cubes found is
(A) 10000 (B) 100000
(C) 1000 (D) 1000000

1 e ¥, SRS G B 2@ 1 % (5. . SRS PR 7 qee AN P> Tfereq) 274 |
o1 I GePq R (2”

(A) 10000 (B) 100000
(C) 1000 (D) 1000000

1 o N, SR G0 T pcs S0 I ST Fuwed 1 949 (. [N, oo 1= [ow
3912 | Y T TIPSO A 2

(A) 10000 (B) 100000

(C) 1000 (D) 1000000

1 =9 . TS T T SEeHSE 1 e 9. . IS S fRee e s s, W
Topenfem =k ST ?

(A) 10000 (B) 100000

(C) 1000 (D) 1000000

1 9 Hio 3T It Teh 89 bl 1 &9 Ho Hio A A B 1 § GHME &Y F hIel STl g | 91g
T B 54T I GE& 8

(A) 10000 (B) 100000

(C) 1000 (D) 1000000

SPACE FOR ROUGH WORK
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97.

97.

97.

97.

97.

The smallest positive integer that is simultaneously divisible by 6, 8 and 12 is
(A) 24 (B) 18
(C) 48 (D) 36

6, 8 T[F 12 (3 GC3 IRCS [eTey Jelod e 4G ALl 2’7
(A) 24 (B) 18
(C) 48 (D) 36

TS ISP 7R AN G2 M 6, 8 GR 12 7l [eren, @b 29

(A) 24 (B) 18

(C) 48 (D) 36

TGS A TEEIE T SERH @l 6, 8 AR 12 i TS, s&l el
(A) 24 (B) 18

(C) 48 (D) 36

e BT U qUITh, S U A19 6, 8 ¥R 12 @ fawrsa 7, ?

A) 24 (B) 18
(C) 48 (D) 36

98.

98.

The difference between the smallest 3-digit even natural number and the largest
2-digit even natural number is

(A) 1 (B) 2
€ 3 (D) 4

3-SFYS WIHIRSF I JU T TR O 2-SRFLS A I FSIMF TR A4 (2%
(a) 1 (B) 2
© 3 (D) 4

SPACE FOR ROUGH WORK
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98.

98.

98.

3-SCF FUoN FSIS Yo TR G9R 2-WCF J2I TSI I TR T N 25

(A) 1 (B) 2

(C) 3 (D) 4

fm 3-gmfsmriar fmftrm s smfsm o) wfem 2-amtsmrmar bl ss'a et fewe
T BRI

(A) 1 (B) 2

(€ 3 (D) 4

3 3Thi h! HoH DI UTehideh TH TEAT IR 2 3Tehi i G99 FS! TThideh 97 GE&AT o o 1 TR §
A) 1 (B) 2
(€) 3 (D) 4

99,

99.

99,

A number was increased by 40% and thereafter decreased by 40%. The net change
in the number in percentage is

(A) 16% increase (B) 16% decrease

(C) 32% decrease (D) No change

A BT TR AT 40% I T 2 TF OF PI®S 40% TP 91 A | @I ARAITS
AT 55l vav

(A) 16% I= (B) 16% Z™
(C) 32% 2 (D) SRAfe®

G TRANF 40% I F91 2GR 2FAOICS 40% 2T F41 27 | *OReR F[fdey wwanfoa @b
o[RS 2a

(A) 16% I (B) 16% 3™
(C) 32% ZM (D) wfFafee

SPACE FOR ROUGH WORK
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929

99

FoET A8 o o 40% SEFE S ST 39 40% THEAE 9E | SaeieTE o fsami
S IC R CIDEIRIRS ]

(A) 16% el (B) 16% @H W&l

(C) 32% @H &l (D) St HerEmd

Tk GE&AT H 40% hl Jha ol T8 TR 36k a8 40% =T & T3 | T | I3, TRadA Ifawrd §
(A) 16% 3t gfg (B) 16% @t =Ht
(C) 32% =ht =Ht (D) IS SEcra &l

100.

100.

100.

100.

If the average age of A, B and C is 22 years and the average age of B and C is
25 years, then find the age of A after 9 years from now.

(A) 25 years (B) 35 years

(C) 50 years (D) 45 years

I A, B IF C J 9T¢ T 22 28 IF B FF C I 9T TP 25 I7d, (93 AfST{ 2[{ 9 I=q
folee A P 27

(A) 25 =3 (B) 35 3=3

(C) 50 =7 (D) 45 q%J

M A, B 8 C-949 5% 7 22 I=9 €& B € C-99 9T 7 25 27 T, O@ 94 (AF 9 =7
I A-99 RO IO 3, 1o T |

(A) 25 q=d (B) 35 J=d

(C) 50 =7 (D) 45 927

Sfe A, B AR C T e I@ieT 22 dER A/ B AR C 1 Tg sMis 25 SMisAl, 9 dER 3™
AT Sve S8 SETE?

(A) 25 FER (B) 35 &R

(C) 50 =ER (D) 45 =ER

SPACE FOR ROUGH WORK
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100. g A, B 3R C I 379q 3117 22 a9 91 B 31 C i 3fd 21y 25 ¥ 2, @ 319 ¥ 9 9 918
A il 317 F1d Al |
(A) 25 (B) 35
(C) 50 = (D) 45 =9

101. The smallest among \g, \E, \/E and \E is
1

(A) 5 (B) \E
(©) \E (D) \E
101. \g \E JEWﬁ@WWWWW
(A) \E (B) \E
(€) \E (D) \E
101. \E \E, \/E R \E -3 W0 FEed MR &4
(A) \E (B) \E
(©) \E (D) \E

SPACE FOR ROUGH WORK
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1 1 [1 2
101. \g \g \/;aﬁ\gﬁﬁ@?la ERIEIECRCRISEL
1 1
(A) \g (B) 3
1 2
(€) \/; (D) 3
1 1 [1 2
101. \g \g \/;am\gﬁaaﬁ@ﬁa%
1 1
(A) \g (B) 3

1 2
C) .= D) .=
(©) 4 (D) 3
102 Ifg—%zg, then XY is equal to
(A) 2 (B) 3
(C) 4 (D) 5
102. 3 X =Y -2 og XY T2 g g
3 4 7 z
(A) 2 (B) 3
©) 4 (D) 5
102. 3 X =Y - Z wrerm XY g
3 4 7 z
(A) 2 (B) 3
(C) 4 (D) 5

SPACE FOR ROUGH WORK
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102. 9 X =Y _Z s 2TYTZ o g wmi
3 4 7 z
(A) 2 (B) 3
(C) 4 (D) S5
102, g LY _Z § XTYTZ g qum 2
4 7 z
(A) 2 (B) 3
(C) 4 (D) 5
103. Two numbers are in the ratio 2 : 3 and the product of their HCF and LCM is 96.
The sum of the two numbers is
(A) 18 (B) 20
(C) 22 (D) 24
103. 5l M4 2 : 3 OO AR OF PReq 9.97.8, SF #.7.8.-7 77 96. AR YO I9RFe
(A) 18 (B) 20
(C) 22 (D) 24
103. 7f6 SR SRS 2 : 3 @R O LB, G2 FI.B.-F BIFe] 96. F {64 (91T 25
(A) 18 (B) 20
(C) 22 (D) 24
103. TH+ foamfH sgs@mn 2 : 3 AW foERA d.endn. 3 .39l gFsreeE 96. ° foEE

A IS e
(A) 18 (B) 20
(C) 22 (D) 24

SPACE FOR ROUGH WORK
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103. T TEAM 2 : 3 FIIE H T N 39 HeqW THUEGS R TIqd THYE *1 PEGA 96 B | qHl

Tl T AN B
(A) 18 (B) 20
(C) 22 (D) 24

104. The value of %/87 is
A) 1 (B) 3
(C) 2 (D) 4

104. J82 7w 27
(A) 1 (B) 3
©) 2 (D) 4

104. @—kﬂﬁ Qg

(A) 1 (B) 3

(C) 2 (D) 4
104. 82 i umm

(A) 1 (B) 3

(C) 2 (D) 4

104. J82 w1 9w 3
A) 1 (B) 3

(C) 2 (D) 4

SPACE FOR ROUGH WORK
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105.

105.

10S5.

105.

105.

A certain amount invested in a firm would become double at the end of one month,
but it deducts an amount of ¥ 120 on every doubling. A person invests an amount
of ¥105 and continues for 3 months without investing any additional amount.
At the end of 3 months, his net income is

(A) ¥55 (B) ¥O
(C) ¥270 (D) ¥45

I 9 TP 2dfovrre 4 [Wce Ffce aiee o@e @@ & 1@ AREes 2weel, 51
2fSDICHICa AfeqE 4 7@ 2'cei & 120 b A0 | G Jcz G2 aAfeve & 105 e
I I (@I ST [N T5910F 20 3 W20 bele e | 3 W o8 Teee[ 1 SR

(A) T35 (B) €0
(C) T270 (D) ¥45

a5 WS “fgma =1ef g3ts e AfoD RS F9a OF o™ T Bed 2@ a7 58 ofe
Bt 120 (PG @IS || GFee Ffe T 105 R @ @32 @i Sfefae wifque
RfScer 1 Fcg 3 W @ @ | 3 WIOR I ©IF (G IR 3¢9

(A) T35 (B) €0
(C) ¥270 (D) T45
Y BIAN HEHAHE T SAYHSAT FE SR o TS BEA SR TU™ GEA SIS

HEAAT € 120 G IE A ARG | 98 GIST & BIA FHAEE & 105 SH IHT TR Sall 3w
T BIeUeEE! for o et g 3 @ifaat | g 3T e faerfy g s sme

(A) ¥55 (B) 0
(C) ¥270 (D) ¥45
T HH W few i E we Mida Ui v wEN % o1 W SRl 21 ST, dfeh 3EH T a1

& 120 1 fyy e ot St 81 T Ak 9@ wH A € 105 k1 o war @ eiw fomn e sifafen
[T %1 Hewr TR 3 HEH deh ST W@ 2| 3 WEM o 37d H 3Iuh! & 3T Sl

(A) ¥55 (B) ¥0
(C) ¥270 (D) ¥45

SPACE FOR ROUGH WORK
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106. The count of prime numbers between 80 and 100 is
(A) 2 (B) 5
(€ 3 (D) 4

106. 80 < 100 J Ver® SLFe (e AL (F26! 2

(A) 2 (B) 5

(C€) 3 (D) 4
106. 80 932 100-9F ¢ S{FS (NfeF AN F0 2

(A) 2 (B) 5

(C) 3 (D) 4
106. 80 3 1007 TSia HHaH UeT SHSHT g7

(A) 2 (B) 5

€) 3 (D) 4
106. 80 3T 100 &= 19T gt it fimdt 2

A) 2 (B) 5

C€) 3 (D) 4

107. Find the value of [(107 +10%)+ (102 +1072)]+=10°.
(A) 100 (B) 200
(C) 2 (D) 1
107. [(107 +10%)+ (102 + 1072)]+ 10° 3 I fefa 59 |
(A) 100 (B) 200
(C) 2 (D) 1
107. [(107 +10%)+ (102 +1072)]+ 10°-47 i fefa e |

(A) 100 (B) 200
(C) 2 (D) 1

SPACE FOR ROUGH WORK
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107. [107 +10%)+(10° +1072)]+ 10° f 7+ fag|
(A) 100 (B) 200
(€) 2 (D) 1
107. [(107 +10%)+ (103 +1072)]+ 10° & OH I =HIfS |
(A) 100 (B) 200
(C) 2 (D) 1
108. If A : B=3, then 144A : 36B is

108.

108.

108.

108.

(A) 4 (B) 12
(C) 3 (D) 16

I A : B =3, (93 144A : 36B 3 T+ 27
(A) 4 (B) 12
(C€) 3 (D) 16

IM A : B =3, 94 144A : 36B-3 T+ 2
A) 4 (B) 12
(C) 3 (D) 16

¢ A : B =3, 3%l 144A : 36B T #m
A) 4 (B) 12
(C€) 3 (D) 16

I A:B=3,dl 144A : 36B I U B
(A) 4 (B) 12
(©) 3 (D) 16

SPACE FOR ROUGH WORK
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109. The fraction equivalent of the recurring number 2-19 is

271 217
(A) —= (B) =—
99 99
219 291
©) -+ (D) —~
90 90

109. (e[l 7221 2- 19 1 gen @A (2>

271 217
A) —5 B) -5
99 99
219 291
€) — (D) =
90 90

109. S Y 219 -9F FLeT) I 25

271 217
A) — (B) =——
99 99
219 291
C) —~— (D) ==
90 90

109. 2-19 FEUTRUTS SETAThE IFSHI G0 SiEE @iwal T8l

271 217
(A) —= (B) =—
99 99
219 291
€) — (D) =
90 90

109. Tad! €& 219 F1 §Hged 1= gm

271 217
A) — (B) =——
99 99
219 291
C) —— (D) ==
90 90

SPACE FOR ROUGH WORK
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110.

110.

110.

110.

110.

The largest of 26, 35, 4% and 5% is
(A) 26 (B) 3%

(©) 44 (D) 53

26, 35, 4% 9% 53 AACFIBIF A TeTF AL 27
(A) 2° (B) 3%

(C) 4% (D) 53
26, 35, 4% @31 53-97 Wy JTERH =

(A) 26 (B) 3°
(C) 4% (D) 53
26,35 4% am 53 7 o Wi

(A) 26 (B) 33
(C) 44 (D) 53
26, 35 4% 3w 5% A g weT B

(A) 26 (B) 3°

(©) 44 (D) 53

111.

For a bicycle rider, it is seen that for every two complete pedaling, the front wheel of
the bicycle makes 3 complete turns. If the radius of the bicycle wheel is 70 cm, the
distance (in metres) covered by the bicycle in 10 complete pedaling is

(A) 7m (B) 14n

(C) 21n (D) 28n

SPACE FOR ROUGH WORK
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111. @S BIECH SRR (Fqe @3l 7 @ (9€ (T 761 o A Hf€cE SR
SOMGFICHIT =9 3 A% Weq | A BRI TP 70 5. . 7, (98 CAICee 1060
S5fof 2P SiRCEC f[FE 712 (WOIF 9ve) Sfoa i 2
(A) 7m (B) 14n
(C) 21n (D) 28n

111, 9F CE SR CFed @l T @ 6 “Hees e 2ee AR AN Bl feef
G Ao = | AW ARCICE BFE I 70 G W =, ©@ 1016 A=<l wfiicwca ARt
wfoay w41 1wy (FoTea) 21
(A) 7m (B) 14n
(C) 21n (D) 28mn

111. 918 HEehal AT Jamfe, oo dderet == 2 |r fhiesen, famfy awen w= 3 arfifest| g
UTgohedl HHAT T@En 70 . . S/, ofen ot @ 10 9R fhidsen, @rgshet s M
(forewre) wrRerH?

(A) 7m (B) 14n
(C) 21n (D) 28n

111. T dEfohal 9aR & foTw =g <@ o fo yee ot i defom @ fou amsfera 1 e ufgen 3 qof
TS ST § | A TTEfohet o dfed i s 70 Wo Hio 7, @1 10 ot Uefom # wwfera g0 @@ A
T g (i H) ®
(A) 7m (B) 14n
(C) 21n (D) 28n

112. The base and the height of a right-angled triangle are equal in magnitude and the

length of the third side is 2+/2 cm. The area of the triangle is
(A) 2 sq. cm (B) 2v2 sq. cm
(C) 4 sq. cm (D) 442 sq. cm

SPACE FOR ROUGH WORK
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112. 951 SN faged o S TwoR o7l WA SIF POrch! %9 vl 242 6. . | fageos
CHFaTe|
A) 2 3o 5. fi. (B) 2+/2 3of (5. fil.
(C) 4 3o 5. fi. (D) 4+/2 3sf ¢5. 3.

112. 93 e fagesa ¢ ¢ Twer el TWHE 9 e qww oy 22 @1 fil. | fagsfiy
CHFaFe] 267
A) 2 35f 1. . (B) 2+/2 3of @1, .
(C) 4 3of @1, . (D) 4+/2 3of 1. fil.

112, T8 @AY manfemt gwn e shumsf Mo e s el 3%y smenfufy @
242 @, fi.| 9 sty wifern
A) 2=t i, (B) 2+/2 =it @, fa.
(C) 4 =t @ fa. (D) 4+/2 =i 4. fi.

112. TF GHI0T B o1 3mem 3t 3Rt Seé aftmor & srer B iR diad syoi it arwag 242 Fo o
HRELEEARIELTR
(A) 2 =t Fo o (B) 2+/2 =t To o
(C) 4 =t Fo o (D) 4+/2 & Ho Hio

113. In a range of consecutive numbers starting with 1, all the even numbers are
removed. From the remaining, consider the first 7 numbers. The sum of these
7 numbers is
(A) 35 (B) 42
(C) 49 (D) 56

113. 19 *[ J«S 9 G TROE (P b1 7P TM© A FHCACIN I TR0 Sreqiz.

2% | S RIS A2 761 A R 91 2% | G2 751 R 0 0T (7
(A) 35 (B) 42
(C) 49 (D) 56

SPACE FOR ROUGH WORK
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113. 1 W@ wF 290 G MRS 21T (e T8 (qre ARy ARE el 26 | S|P (&0
22 715 =1 Reavel w1 =2 | 9B 7M6 TR @orwe 25
(A) 35 (B) 42
(C) 49 (D) 56

113. 1 S Y™ 3@ sHRE aiRFEE TR SO SHSHRRE! SERA™ ST | ARG RAEE
Trmfs 99 7 ARG 9 TR S WE 7 SESETERE ST e
(A) 35 (B) 42
(C) 49 (D) 56

113. 1 ¥ Y& TH JTcll AR gensti H JEan H, 9t o9 ged g & S g1 w9 H " Wem
7 wEnstt W fa=m i | 37 7 gt A g
(A) 35 (B) 42
(C) 49 (D) 56

114. Two numbers A and B are first added and squared to get C. In the next step, B is
subtracted from A and the result is squared to get D. The result C — D expressed in
terms of A and B is
(A) A(A+B) (B) 4(A-B)
(C) Af (D) 4AB

114. 751 SR A S B @RFeTs 96f Far0 C Pl 9’31 | 2[99l Bi7fe A A1 B Reael w9 35f
FAE D (I 4’F | C-DF AE BT 24 FIRCE AFMRIMCEN 27
(A) A(A+B) (B) 4(A-B)
(C) A4B (D) 4AB

114. 76 R A € B (3 AN Q19 G 2 R Iof 7 C 7N€q W | 2K 4ie7l A (A B [l

9 27 G2 Foe 95f F9¢ D “l1ST A | A 8 B-9GF MR AN C — D (F 2N ¢ 203

(A) A(A+B) (B) 4A-B)
©) A43 (D) 4AB

SPACE FOR ROUGH WORK
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114. A I B IWARNME INEAH A/ IE & g W C AFaE | 3AH SiiEd B @ A HE™
aF@ T o e & fig i D 99| C - D@ A R B foemmE wRARsa
(A) A(A+B) (B) 4(A-B)
) 28 (D) 4AB
4
114. C 99 & & o0 qgct 31 easdi A 3R B &l SISl a1 g a1 3T o {1 STt 21 3TTet =
H, AT ¥ B &l 9@ A1 ¢ IR D IH & o foie 38 aftomm 61 ot fohan Stran 21 9o ¢ — D
F A X B F ¥4 | =xh B T
(A) A(A+B) (B) 4(A-B)
(C) AB (D) 4AB
4
115. Find the least number by which 1250 must be multiplied to make it a perfect
square.
(A) 4 (B) 3
(€ S (D) 2
115. “[row 5 FRICT 1250F 27 Flace @1 7jofasf 3 ¢ A9 2
(A) 4 (B) 3
() 5 (D) 2
115. SRR 40 T 7= 1250 & @ FEea ol qof TR e T o1 Fef T |
(A) 4 (B) 3
€ S (D) 2
115. 1250 @ 377g a7 GIewAlee el aRH SHISHIS FHESTEHTH |
A) 4 (B) 3
(€ S (D) 2
115. 98 =9 91 Fa Sifsr, a8 1250 @ v quf ot s o fore o foren s =nfew
A) 4 (B) 3
€ S (D) 2

SPACE FOR ROUGH WORK
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116. Identify the incorrect set.
(A) Bad : Worse : Worst
(B) Poor : Poorest : Poorer
(C) Rich : Richer : Richest
(D) Good : Better : Best

117. Identify the verb in the following sentence :
Neeraj ran very fast.
(A) Very
(B) Neeraj
(C) Fast
(D) Ran

118. Which word of the following is an example of pronoun?
(A) Again
(B) Pink
(C) They
(D) Speed

119. What would be the antonym of ‘“friend’ ?
(A) Foe
(B) Unfriend
(C) Dislike
(D) Buddy

120. From the list below, identify the synonym of lament’.

(A) Sad

(B) Mourn
(C) Copied
(D) Molecule
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121. Which word is incorrectly spelt?
(A) Basically
(B) Essentially
(C) Primarily
(D) Varbally

122. Give one-word substitution for ‘life history of a person written by another person’.
(A) Autobiography
(B) Biography
(C) Monograph
(D) Bigamy

123. What does ‘in a nutshell’ mean?
(A) Peanuts and almonds
(B) Very tough explanation
(C) Expressed in short

(D) Important discussion

124. Fill in the blank :
Tuhin ran  than Zubin to win the race.
(A) fast
(B) faster
(C) fastest
(D) fasting

125. Identify the collective noun for ‘dogs’.
(A) Gang
(B) Herd
(C) Team
(D) Pack
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126. Which of the following punctuation marks is called ‘hyphen’?

127. What is the opposite of ‘sorrow’?
(A) Joy
(B) Happy
(C) Laugh
(D) Beauty

128. Which of the following means ‘to get rid of a problem’?
(A) To hammer it out
(B) To get to the bottom of
(C) To get the monkey off one’s back
(D) To get the acts together

129. Identify the grammatically incorrect sentence.
(A) T want to go home now.
(B) I wish to go home now.
(C) I shall go home now.

(D) T went to go home now.

130. Choose the correct option :

Is your brother _____ to the gym?
(A) gone
(B) going
(C) go
(D) went
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131. Which pronoun is used for ‘non-living thing’ ?
(A) I
(B) We
(C) Us
(D) It

132. Identify the incorrectly spelt word.
(A) Monkey
(B) Moniker
(C) Matress
(D) Molten

133. Identify the adverb in the following sentence :
He could not go deep into the forest.
(A) Deep
(B) Go
(C) He
(D) Into

134. From the list below, identify the antonym of ‘cheap’.
(A) Price
(B) Poor
(C) Expensive
(D) Rice

135. What is the synonym of ‘furious’™
(A) Laughter
(B) Witch
(C) Impure
(D) Angry
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136. Identify the incorrectly spelt word.
(A) Square
(B) Parpendicular
(C) Diagonal
(D) Triangle

137. Give one-word substitution for ‘a person who loots and plunders ships’.
(A) Robber
(B) Pirate
(C) Dacoit
(D) Looter

138. What is meant by ‘to get the green signal’ ?
(A) To stop others
(B) To go away
(C) To get permission

(D) To get the keys of a car

139. Fill in the blank :
Lokesh can jump very _____ .
(A) high
(B) higher
(C) highest
(D) tall

140. What is the collective noun for ‘ish’?

(A) Swarm

(B) Pack
(C) School
(D) Herd
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141. Fill in the correct conjunctions in the following :

Reshma Padma knew the directions, and now they are lost.
(A) Either, or
(B) Both, and

(C) Not only, but also
(D) Neither, nor

142. Which of the following punctuation marks is called ‘apostrophe’?

143. Which of the following means similar to ‘elevated’ ?
(A) Topped
(B) Wished
(C) Promoted
(D) Transferred

144. What is meant by ‘to create a ruckus’?
(A) Make loud noise
(B) An artistic work
(C) Produce music

(D) Bake a cake

145. Which of the following sentences is correct?
(A) She had not coming to the wedding.
(B) She is not come to the wedding.
(C) She did not coming to the wedding.
(D) She is not coming to the wedding.
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146. Choose the correct option :

We __ the National Anthem every morning at school.
(A) sanged
(B) sing
(C) sings
(D) singed

147. Which of the following pronouns refers to ‘myself’ ?
(A) We
(B) They
(C) I
(D) You

148. Identify the incorrectly spelt word.
(A) Damsel
(B) Wicked
(C) Volcano
(D) Mountein

149. Identify the correctly spelt word.
(A) Mongrel

(B) Marval
(C) Martal
(D) Middel

150. Identify the preposition in the following sentence :
The cat was sleeping under the cot.

(A) Sleeping

(B) Under
(C) Cot
(D) Was
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